Paper / Subject Code: 23114 /Gommerge¥Y < §)9 [.{;E?I Q4=

TIME : 3 HR;S'.“  (TOTAL :100 MARKS)
1. ALL QUESTIONS ARE COMPULSORY. ~
2. MARKS ARE INDICATED AGAINST EACH QUESTION -

1. (A) Select the most approprlate,answer from the optxons glven be]ow (ANY TEN) (10)

1. concept of" marketmg aims at balancmg between proﬁt customer
satisfaction and soclety s welfare

a) Production b) Marketmg ' .'."-“ 6?:\«:-_“ “‘M
c) Selling’ d)-Societal -
2. Marketing Decision‘{Stzpport S_ystem is an important componentof -’ :__H;?
R a) Marketln g Research _b) Product Research i “‘
c) Marketmg Informatlon System d) Consumer Research
3. <% is an important element of Demographl'c -Segment”aﬁ:en.
S «a) Age < b) Culture -
= c)Lifestyle < ~.d) Usage_rate R

8%, A A passes through dlfferen’t stages or phases durmg the Ilfetune

a) Plan ¢ . b) Product-
¢) Market :M._;- .~ d) Promotion
D5, Service sector faces challenges due {5 '
) Quality b) Product:vlty
c) Efficiency ' d) Intangibility
6. Both cost oriented factors and market oriented factors influence
-a) Pricing b) ’Rro'motion
¢) Placement d)Branding
,,;’Z Warehousmg creates o utilify
a)Tlme : ’ ey b),fP'.l::ice
€) Form & A A_d‘)'Possession
8 isa form of consumer “oriented promotion techniques.
a) Push Strategy ~~ b)Exchange Offer
) Trade I,)Alvscount ) d) Dealers’ Conferences
' 11342 j Page.1of 6
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Paper / Subject Code: 23114/ CommerceV

9. is the first step in personal selling .-,
a) Presentation ~b) Approach
¢) Prospecting 27 d) Follov_'véup

10. Identifying the weakness of the competltor and attacklng 1s called aﬂs?""i
Strategy ,

a) Frontalattack b) Flank attack __

c) By pass attack - d) Encirclement attack
11. packets help in mcreas:ng sales in rural markets
a) Elegant b]Soph:stlcated \
c) Large ard) Sachef <)
12.Seeking: protectlon against harmful goods is Right to
a) Safety b) be heard
¢) education d) redressal :
(B) State whether the followmg statements are True OR False (ANY TEN) - (10)
L. Exchange concept is the oldest concept of Marketmg o

10,
115

Q.No. 2 Answer ANY TWO of the followmg

A company adqpts the same marketmg mix for aIl the products

&

Marketmg Research is a one-time actwlty

. Ina'single segment concentratlon strategy, the ‘Company&,Selects a spec1ﬁc smgle

“market segment and oﬂ‘ers a single pmduct to that segment

e
i ',..

. The main objective of penetration pricing is to capturea large market share.
. Ease in ldentlt' ication is one of the essentials of good packagmg
. Channel of dlstrlbutlon creates only place utlllty N

._):Advertlsmg isa personal tool of commumcatlon

. Ob_]ectlon handlmg is one effectlve Sklll in personaI selllng

Lowermg the pnce to restram competmon Is known as skimming the cream.

VOICE 1s the name of a Multmatlonal f rm

Copylng somethmg of the leader is known as imitating strategy.

15)

a) What do you mean by Marketing? Explain its Features.

b) D,:ISCUSS the process oszarketing Research.

11342 .-
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Paper / Subject Code: 23114 /. Gommerce V

¢) What is Consumer Behaviour? Discuss briefly various factors influencing

consumer behaviour.

Q.No.3 Answer ANY TWO of the following:

(IS)

o

a) What is Product Life Cyele" Explam how to managc dlfferent stages in the Product

Life Cycle? “
b) What are various strategies of product pos:tlomng?
c) Explain dlfferent objectwes of pricing. .

Q.No.4 Answer ANY TWO of the follow.i,hg:

“as)

a) Define the concept of Physncal sttnbut]on What f'actors influence Physical

Dlstnbut:on‘?

b) Def' ine Promotlon-Mtx., Drscuss the elements of Promo

c) Defme the concept of Sales Management Discuss components of Sa[es

Management 5 Rk

~Q.No.5 Answer ANY TWO of the followmg

a) Explain: the role of consumer’ orgamzatxons in protectin

- b) Explain the marketmg strategies effective in Rural marketing

¢) What are the skill sets needed for career in marke:tmg‘7

Q.No, 6 Wnte short Notes (ANY FOUR)

a) Strategtc Marketmg
b) Data Mining.
o’) ‘Brand Equity.

~d) Importance of Service Positioning.

11342 .

e) Personal Selling.
f) Digital Marketing,
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Paper / Subject Code: 23120 / Computer systems & A;\;ﬁ_lf“cfations_l?ﬁiier 1.5 LA 5 b

{\..;-

Duration: 2 Hou;§§30 min > & Ta 18 &
s S, o oy ~
Note : All questions are compulsory ' > Q B & &
Q1 A Attempt any Two sub quest1ons ﬁ'om a),b}& c) in MS‘}Excel @& A K72 o
(True or False) o & s O
a  Ifacell display #### it means that it cohtams 1nvali‘d data . "y .
b  The default cell reference:is an absolli;tes cell reférence “ o @ > R
¢ Every formula must begms with $'Sign AN S ;:J":Z'- R Y R
ﬂ‘\&' \ «' ot L A ¥ at
B Attempt any Two sub questlons»ﬁ'om d),e) and 1) i in My SQL _;j\r:;?\ 32
(Multiple Choice ) S’ K" A X Q'
d Tomake changes in the structure of the ex1st1ng table we use & = X
1) Alter.~ 2). Update =" 3 ) Set 4 ) Create .-;;;j"f" o £
e Tosave the transact1on weuse - 5 K i oY 5
1) Gommit 2) Rollback o 3) Selecwf o 4) Cance] A o
f A data base contams one or more Kt o &
1) Rows - 2) Tabless -  3) Columns S Y5 Databases &Y
C Attempt any Six sub questions fromg),h) 1),]),]() 1), m),n), and 0) in Data o 6
Commumcatlon ;Networking andlntemet N
& True or,,E‘alse ) & = O i &2 A
g CHTTP leé protocol on the mtemet 33 & W\?\ A%
b’ A bus topology uses a singlé:cable > A A & <
i . A fiber optic calgle carries data usmg Electrtc curr“ent _-;‘3?‘-“' & % d
- j MANis spread over many countries @s' QY 7= o
& k Qoogle comi:is a search‘engme < . 4N %)
N ~Failure ofa node brmg down the entire ne\t“work ina star topology g}
m" A blogisa digital'diary - 0y & % )
_n  Acyber crime means cheating through comput e S
3 0 An email address can contams 7 layers A 3
Attempt any Five sub’ questlons from p),q),r),s) t), l),u) v), and V)i 5
> Communication Networkmg and Intemet s A
< (Multlple Choice) P
P Tach ‘web page 'has a unique address called a.w
a) andges b) URL . c). d) None of these
: q, s used to.create Webpages .~
>2) HTTP b) HTML ') SMTP d) FTP
r A hyperlmk can gppear as< o
) On ly Text b) Only Images c) -Code d) Both text and
5 3 o . Images
~~ s The fastest; transnuss:on media i is+ P

Fay

K

T u

< a) Twisted pair .~ “'b) Fiber Optics ¢) Co-axial

d) Wireless

The exchange of. information’ between:computers is governed by a set of rules called
a) Media ~ b) Piotocol - ¢) Channel d) Sender
A o |o|n5"mult1ple computers together to form a single network
a)" Bnd ge b) Switch - c) Hub d) Router
v.-In topology all'nodes are connected directly to the central system
“a) Bus - b) Ring c) Star d) Mesh _
w A place on the web page that signals a connection to another webpage is called
: a) Protocol b) Blog - ¢) Link d) Google
- 12647 _ Page 1of4
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Paper / Subject Code: 23120 / Computer syste;ijiis & Agp)li'ciations,?a\[’)er -1

Attempt any one sub questions from a) & b) in Data Communication ;Networking
and Internet )

Explain briefly the topologies Star and Ring used in networking.

Write short notes on i) LAN i ) WAN - b ¢ o _
Attempt any one sub questions from ¢) & d) in Data Communication ;Networking
and Internet - oo X
What is OSI model? Explain the three layer of OST'model. -7
What is hacking and explain any three types of hackers %
Answer any one sub question from a) and b)inMy SQL-.

@ Write MySQL statement to create.a table called sales_details hay_iﬁg the columns

>
" marks in HSC(Hsc_Marks Integer), gender (Gender Enum),Admission no. should be

Customer id(Cid, integer, Primary key, Not Null ), Name (CName character with -
variable width 30 column s),order no (OrderNo In_téger),ltem\_“name(ltenj;:_- name -
character 20),quantity ordered(Qty_order Integer),unit price(Unit _price Integer),date
of order(DOA date). % g Y
Write MySQL statement to create a table called STUDENTS o
Columns in the table: Admission number (Adm_no Integer Primary key),first name

(Fname character(15), Last name (Lname character(15)),Date of birth(Dob date),

automatically generated every time you enter a record
Answer any one sub question from ¢) and d) in My SQL

C There exists a table called Student containing the columns Roll Number (RNO

&) Display all the information from the table student,

d

integer, Primary Key), Name (NAME, character variable width 20), Date of birth -
(DOB, Date), Gender (GENDER, character width 1) and Division (DIVISION, -
character variable width 4). A ' "

Write MySQL statements for the following, -
i) Display the structure of the tabja student,

P ;

1li) Add a new column Mobile Number (MOB, intéger) at the end of the table Student
iv) Delete the row Wwhere roll number of the student is 96, - S
v) Change the Divison of students with roll number 95 to-Div B

vi) Update Mobile number 8652007978 of student whose rollno is 10.

vii) Rename the table Student as Student . Info. : :
Explain the following built in function in My SQL I

1)LEFT() 2) RIGHT()  3) MID() 4) NOW() 5)
POW() 6 )LENGTH() 7) CONCAT ()
Answer any one sub question from a) and b) in My SQL

QX There exists a table LIBRARY containing accession number (ASNO, integer), book

b

12647 i Page 2 of 4

" name(BNAME, character), author's name (AUTHOR, character) and number of

pages (NUM, Integer). There exists another table BOOKS containing columns student
number (SNO, integer), accession number (ASNO, integer) and date of issue (DO,
date) :

Write MySQL queries for the following:

i) Display the book name, author name, student number and date of issue for

LIBRARY having more than 150 pages using both the tables

i) Display the book name, accession number and date of issue for a]| the books using
both the tables

iii) Display book namie, author name and number of pages from the table LIBRARY
for those books where the number of pages is above the average number of pages.

There exists a table CUSTOMER containing the folloWin g columns: customer number
(CNO, iptegcr), customer name (CNAME, character), balance due (BD, numeric)

B8DA6ABFD7D5C758D3 IF82F3F2C166ED
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and date of transaction (DT, date) 3 : o~ 3

Write MySQL statements to g3 ~ ) ol &
i) Display the customer number, maxunum balance due and totaLof balances due "‘

grouped by customer number - S

ii) Display the customer numberqnmrmum balance due and number of balances due '
grouped by customer number. S = Wis X
iii) Display all the rows whére the balance due i 1s:more than-a -average bal”ance due/ Pl
iv) Display all the rows where the name starts with ‘R’ -~ o "“\“
v) Display the customer-number, balance due and date of transaction for date- of \f‘
transaction before 20 July 2022 : pe o S

e g 1

. “’m""

B Answer any one sub questlon;from c) and cl) in My, SQL . 73}1“5‘
¢ There exists a taB]e called- "BANK con“Tammg columns bank account: number (BAN A
integer) , name ‘of the depos:tor (DNAME), émount deposnted (ADEP) ancL date of

deposit (DO@) o8 A R ey o ‘:;

Write MyﬁQL statefiients for the followmg i o & Q
i) Dlsplay the baﬁk accounbnumber .name of the deposnor, number of amoun‘t il
depog,rted and mm imum amount depd;;rted group dccount fumber w1§§ ol & v

] i) «(,Drsplay the bank aceount number name of the deposrtor mammum amount ‘
‘deposited and total ofxamount deposrtecl ouped account number wise for bank e
p _ %f P g
_account ﬂam N 5 & <

..@,‘,

r—rg:z
\!{.

<7 i) D;splay the bank account number, name of the deposuor and dafe of dep051
decending orderof date of‘“deposn < B4y,
iv)-Display . -all information of bankaccount numbers 3fte 7 : )
d _There exists a table. COMPANY eontammg the columns empLeyee number (ENO,
__~integer) employee @mne (ENAME, character) salary (SAL 5 mteger and2 decimal)
* and income tax QTAX numeric) >

_ Write "MySQL.quieries for the following: 2 o~ KZ N
1) Dlsplay employee number employer name and salarj? K
\ i) 13;splay¢mployee hame, income tax and”z% of the Income-Tax as ‘Exemption’
5% “Horall the%employees = P :

& i) Dlsplay all thé:rows where the salaryls above 2 lacs

iv) Display employee number employer name and mcomertax in descending order of
Pm@loyee number -

vy Drsplaye employee number, employer name and salary of the employees whose

3 _‘name is Shyam
Y X _‘ vi) Display all the’s rows where the employee name»contams a’
X " vii) D:splay all the rows from this table where the income tax is between 20000 and
: 50000 &
Q5 A Answer any one sub questlon from- a) and b).in ‘MS- EXCEL 8

@, The follo\_atrng data has been entered in a worksheet.

B\ TOTALA | DISCOUNT
o PRICE §OLD MOUNT
& A S 6000 ] 10
3 < B 8500. [ 2
C .7 400 15
D 8050 14
12647 .-" Page 3 of 4
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Paper / Subject Code: 23120 / Computer sys;gix:ﬁ's & Ag;jﬂf;éaﬁonsrg;ﬁber S B

RATE 5%
OFD _
ISCOUNT N

Write the steps to obtain

The Total Amount, Discount Amount an

respectively.

The following data has been entered in\a"_wor_ksl_le:’cf't"_'

B i : : i
[

L | Emp No

Emp Name

ez

d‘,Nét Amopxjt\%n columﬁg'{), E and F

y g%
e ok ¥

-,

Department Salary

555 | Virat HR | 24000 |
rs 665 - | Sachin ADMIN | 15600
458 | Sahit ~ HR | 34500
5 | 255 | Rahul SALES 23500
60125 | Anish HR -'35900,< ]
|

488

| Rupali

Write the stgps'fo do the-following:"

I Arrange the data in alphabetical ord

: 2 Obtain the department wise subtotal
_ Answer any one sub question from ¢)and d)
Consider the following worksheet showing
find the depreciation using WDV (Written

ADMIN | 60000"
er of employee name; A%
of Salary. R :
in MS~ EXCEL
the.cost of machinery

Down Value) Method, -

L] Cost 1500000 | - | Years | Depreciation WDV
2 | Dep. Rate(%) 10° 3
3| No. of Years | 5 : 2
4] 3
S ]

6 3 = ]

LPMT()
~5.COUNT ()

12647

' Explain the following builtin functions in MS-EXCEL

2.RATE () 3.MOD() 4ROUNDUP()
6.SUM () 7.8QRT()
3k ok o ok o sk o ok ok ok ok
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B8DA6ABFD7D5C758D3] F82F3F2C166ED



784037

- Sem -~ V. & g M@Y* L/L,-

Paper /. Subject Code' 23107\X~Flnanc1al Accountmg and Audltmg VHI Cost Accountlng

,_.:f*:r" w’” ”15 r YS 1) lﬂou_

& Tu;ne 3 Hrs n;__;:.'%' Marks. 100

{'AII Questlons are'compulsol'Y v\;-lf'"' 4 RS
Figuresto the [‘_,ght Indlcate full marks aIIotted to the questlons

- Working Not S whereye;r necessary should form a. part of your answer {1 5
\@: qulate F ghres up, to the twowdeamal pomts whérever raqulred
i~ \, “\\, 'k ‘<-<
R Ql a}Select the mostﬁ’pproprlate optlon and rewrlte the full sen“tence S
(Any Ten) \;;-g‘ ks " (:I.DMarks)
: _ -;.,'1) Royalty on: product:on gL o WX i _
o (a) Fixed cost el
5 (b b)Semi-Variable cost ; & K
(c) variable cost - oy B ] & P >
(d)Semj“ Fixed cost 4;533: R A . \ o
5 2) 4{‘;;:__ = Dlrect Material+ Direct labour+ Dlrect expenses. Y
A (a)Prime cost 3 kS
Sl (b)admlmstratlon cost _:sé A5 & j'.” A
_+(c) selling cost ,\jjz;{t{ S S & o R
. V(dothead @ & & & & & 4
o > g & o 5
. “3) At “\new order for rnaterlal is p]aced et |
' (a) Maximurn Ievel 8 e A& 5
(b)Minimum Ieve! [ / o A B or
S -/ (c) danger level, - AV > A
" __._;i_':~ (d)Reorder level ' ’ . &z-‘.‘-‘ \\\ <)
& 4) is- the ma)nmum of stock WhICh can be held in stock at any‘ 3
G - time during the.year. - A 3 & a2 A 20
X (a)maxnmum level 30 )
> (b)minimum level = & )
__,g«' " (c)reorder level R z Rd 5
S | d) d: anger level .?5- & o S L
o 5):.—" Labour Turnover . I Ty o D ey
: “(a) Productlwty of Labour. & o & &
= & (b)Efficiency of\\Ehe La bour o (@ Py n <
o (c)Change m,\,Labour Force » A & X
' (d)“rotal Cost of the Labour
6)‘,’: Bonus under Halsey plan is pald»\ﬁt N . e
- (a) 50% of time'saved .~ A5 i

,"T.\.

(b) 75% of time saved- > 4 X
(c) 80% of time saved" o N
(d) 90% of time saved g

7j) Téa & Lunch break is_ PO i 3 N

(@) Overtlme e el
(b) Normal‘idle time o S

(C) Abnormal idle time .~ 7 e &
~(d) Standard tlme 5 S & N

B Page 1 of 12 o
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Paper f§ub ject qgﬁé: 23107@’Financi_g'i-'-;@\ccouqti_ ng and zﬁ&.q'cl}ting VQ_],_;'[»I'- Cost/A_f‘cé"ounting«j"’ N

{l‘{ :
& Y
o

Fe \..\_ 5 ) - o _.”\_
e ol 8 -

N 8) .y " When the amount of overhead abSorbed ls Tess than the amount of overhead

o % incurred, it isicalled - & a s
AN A (a)under absorption.of overh ead X o ¥
Y P B)over a\bsorptlon of overhead Q¥ pa
& & {(c) proper-absorption of overhead i A0 s
& (d) lower absorptfon of overhead n Y o
&7 ,_95‘* Indlrect Cost¥ *>‘ e . %
A e (a')\‘Can Beztraced to é;a partlcular cost ob]ect e
AP (b)Cannot Be tracéd to a parhcular cost obJect
& ) Areﬂ\not important - P 5 -
0 (d)Are alwaysfvarlable cost ‘W _,W‘_;f & ' P e
t X 2 A~ ) = \_ - iv

iO) The process of charglng the traceable overheads to cost centre is cai"lled as

o NS AN L o
_-,',>-' W(a.)overheads allocatlon & o
o (b)overheads charging o & o
ol ) -4;"” (c) overheads: alfotmenb 5-1”.‘- &9 & &
Ry 5 (d)overheads apportlonment < AN /gﬁ"' £3
AT 11) Costs wh/Lch are mcurred on‘the basLs of tlmeand are gharged to. the perqod
pos . in which'they are: mcurred“are calle&" as . S ool N
© (a)Fixed Costs:. o & o \i;\? _.._L“fz«s‘“” it
& wf‘ (b)Vanable Costs \ ﬂlg\l-' i ' s e 3
P (c% Normal Cost g\’ S Q ‘_;ﬁ\' of
f\w (d Abnormal Cost ._:_”r- 4 ff}' ﬂ\\ '\1; 4 . & R
V1) Sellmg‘“& DIStI‘IbUtIOﬂ Overheads does not mclude A% NP4
.~ (a)Director's Fees > B, o Y '
¥ = | b)Carrlageon Sales -~ & o 3y 57 )
N (€) Rent of- Warehouse 7 e o & &
‘”_\;’-’ v \(d)Ad verttsement»\° _k‘"%-' e ;_; i;-:’ 2

**“ Q1 (b)*State whether the Follqwmg Statements are True or False‘r‘(Any 10)
= R E 45 < (10 Mgi“rks)
= Office" rent is Prlme cost. : '
w2, Admlnlstratlon Cost is: not |ncluded in cost of Work\m Progress \ '
3, Vanable cosf is the co‘st whlch does nos vary with-the changes in the volume‘?of

J\.

P 7 Reconcnllatlon of Cost and Flnancnal Accounts |s necessary in case of non- 2
& mtegrated system of accounts j? 2o
8 Profit.on sale of investment is considered in cost accounts > /QZ?%'
-~ 9, Transnt Insurance relates to Value of Gogds in Tran5|t P A
10. Prellmlnary expenses‘” wntten off appears only in flnanC|a| accounts
11dn Halsey Plan, Time wages are guaranteed, -
o 12 Idle tlme arises when workers are paid on plece baSIS
84037 .- x ' _ . Page2 9fn1-2 |
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Paper /. Su‘hmct Code. 23107 !Fmanc:a] Accountmg and Audltmg Vlél] Cost Accountmg» %,5“(
Q2 a) The followmg mformatlon is avallable from the books of MK Ltd for l:he ;
. “year 2020 and 2021. (10 MarkS) e
2 Particulars’ o 2020 g 2021 A o
N Stock Turnover Ratio | -~ "4 Tlmes* o Sl o '
+ [Opening Stock Rs, 40,000 ~30,000 | _»-
o3 <& [Closing Stoek Rs. < 80,000 | - . 50,000 &
S" i ;PurChase%{JRs- »,)}s{ ; Q 7 .={::.T- N 3:40; 00 v:”‘j{ &
o & g & o : j:. o S Q
=" From the above information fi nd out - o
5 AF Purchases and Cost of Goods sold for the year 2020 S _
2 Stock TurnoverRatio and Cost of\,Goods so]d for theyear 2021 L 0oy AT
Ca &
Q2 b) Vosco Ltd has qollected the followmg data for one of ltS rnater‘tal X &
o ) which'is as follows: - (10 Marks)
= Annual demand 48,000 Units. Cost per |tem Rs. 20 :
3 > Interest of. ;he Iocked -up capltal 3%, pl[Ferage whlle holdmg tnventery 2%, o Py
_‘dther holdmg cost 557:;, O ¢’ o
=3 ~~Order processing-cost Rs. 120 for each order ~ L5 S ol =3
1. What should He the EOQ7 : 2 o~
N : 2. Calculate the Number of order;s to be placed in a year e ol
3 A 3. g:alculateuthe Total‘Annual Ordering Cost A P~ a ]
4. Calculate'the Total Annual Carrying Cost S oo R
R Calculate the Total annual* Materlal Cost & &
3 QZ) Tradmg and Proflt and Loss Accounts of X _Ltd. for the year ended
< 31%March 2021, (20m ks)‘f s
P ‘Particulars Rs;Eff" -~ Particulars RS \ g\
& [To Materials Consumed: 3,50,000 | By Sales (12,500 units) %158,75,0=&C1‘*' oY
~ | To:Direct Wages . .2,25,000. | W = b o "
Tb:Factory'Overheai‘ds ~:+3,00,000 ¥ & O &
| To Gross Profit o/d ~""10,00,000 - 5
7 § .| 18,75,000 | .~ | 18;75,0007]
= [To @fﬁce Rent Q 75,000 |'By Gross Profit b/d 10,00,000 e
To:General Expenses. ~75,000:| By Dividend Received | 13,500 e
To Manag"é’ment expenses [~ 62,500 | By Interest on 6,500 ]
| = i 1 Investment - :
To Advertlsement £ 1,25,000 | b5
To Salesmen: Commnssuon ..1,50,000 |- ; o o .
To Goodwill w/off oo ~o 22,5000 e [ o
To Interest on Loan Y 14500 O ES P S
_}1_“_*' To Net Profit c/d- . 4,95,500 | = =
o 10,20,000 ;; 4 g:»_c- O 10,20, ooo
4 For the year endlng 31" Ma_}_h' 2022 followmg estlmates*have been made |
J\ > .
4 Product|on and sales units’ will be doubled
2. Direct’ materlal cost per-unit w:ll rise by 20% '
84037 : S0 . Page3of12
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Paper fvﬁubjcct Code. 23101fF1nanc13} Accountmg and Audltmg VIH Cost A%countmg
’_ J.’ ~ n 3 " '_\. D \-:': ' & "\ ,”‘-:ﬁﬁ w—‘;‘_ &y ;/”::
& ,::_-_ X _;\ o I?}.__' . : :3 '/é:?' ___“ \\_ {:?-’: b
3. Direct wages per umt will mcrease by 40 %. O < g"“ &

4. 0f the factory overheads Rszl 50, 000 are leed and wouid rema\m same tAnd 5
AR “yariable Overhead d-Per unit would alsd‘“remam -same as i’ 2020-21

P J“S Tota! office an;:l admlmstratlve overheads would beRs 2 802600 ‘_,537* K
A\ N,-;i" 6. Sellmg and @”strlbutlen overhe s per unit will rernaln sarne RN , Q;:_f-’*
o w A Seillng prlc‘e per umr;* would rlse by 10%/ L A A7 :
Wou are: requnre‘d,to prepave o 2 2 ) R N Y o
,;_;_:- I) Cost*SEeet fg{ the year ended 3;,St March 2021 shqwmg costwper Unlt@hd

total cost an \ Ly

, 2) Estimated cost sheet for theﬁyear endlng 31St March 2022 showmg cost per
umt and total costi’ K ) F
&'\: ] t-'\-

b e

#

$aQs3 The company has Three productlon departments X v and. Z and Two serwceﬂ ;g_.“’%“
Qr t departments 5'1 and %_ P t ,__.__' y \ (20 Ma%ks) s

The*foilow gfestrmates of ex genses are: avallablg_

on? A
= Particulars: & _,,jja? ' Rs,» e ;
" Staft Can“teen Expenses o S D &5 &5 zro /000 | &' £}
| Insurance on Machmery = & e B 7 /68,000 el
)éj’ Insurance on-Buildi lngs o &% A0 N ««‘&7 04 0(1,0 S
RS Staiff Welfgre Expenses a0 ) Q S & 10 80,000 ol
o ‘Power ?\ e oF S > QY 5, 28 00 \,-.?"“_’é?ﬁ
: | Rent and Rates.. o 256,000 < o
o Depreciation on Machlnery ) R o ? 20,0003 CF
S Building Repairs - 3 & &> ~71,65 QOE )
e General expenses( proportlonate to dlrect Wages) R 5 OQ,ﬁDO oF
x Other technlcal détails about departments are as undef : ’*\ I el P
s ‘ 9! A R Y Pl ™y
\ Partlculars & &:,f“-«)"( \}fY Z | &1 Jos-2 |
5 Ejoor Spac‘e ('000 sq. ft.) o 3710 P20 [ 30 7 10 P10 P
| ' Numberof Workers S 105 15 N is o5 ° .
<[ H.P. of Machlne Y > ! h’ 3

o A

30 202 2 _.5_\__‘«. 18 & Ld\k <
o Costﬁof Machlne (Rs. in- Lakhs) 5 25}\ . T

; ar £ | |
< |Direct Wages (Rs In2000) > | 530 | <ys 325 | D15 (15 FF
3 Show Prlmary Dlstrlbutlon of Overhead“Expenses‘ L7 A ' \ Ty
o _‘\;w . ..\ * 5 OR X : . I: e E-.\. ; &/";’:{ \«(

Q. 3 (a) A worker produced 200 untts ina week S tlme o (10 Ma"’rks)
Warking Hours in a week are 45 o2 | D

The guaranteed weekly wage:payment is Rs.81: " &F &
,The expected time to produice one unit is 18 mrnutes . Rt
-~ What will be the -earnings of that worker under Halsey (50% shartng)
™ premium plan -and Rowan bonus schemes? __.T>
oy 2 i i % g Qi
=7 A ‘ ’ .\‘. fw ) . B - '_'"- ;’A ¥ ! “‘R._ 1
5 \, i) | & ’ I ': \\"-. : ‘«:;\ il
3 o: M '<-}m. :\} : N 3 :;.\ )

N i + Page 4 of 12 A S
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i e b
! o -

"\\,"':“

s :

Q 3 (b) A« machlne ¢costs Rs 12 00 DOQand is deemed to have a scrap value '

& <of 10% at'the end.of its effective life (12 years). ¢ (10 Marks)
2 :Ordinarily- the machine is expected to-run for 1,800 hou’F“s per year, but __‘.._:r'
Hitis estimated that 200 hours of the-time will be lost for normarrepalrs )
A " and maintenance. Otherdetails in‘respect of machlne shop are’as under:
N e D o2 ,»Details. N Ly a ,“Rs P
=y <p Annual w‘ages bonus, and prowdent fund contrlbutlo\ sof o 1,60<,\0'00
%? | operators for the Shop Do P A & < < Q
+> | Rentlof shop per year = o i s Fa) = 1,20,000] ¢
~F Gerneral I:ghtmg of the" shop per month o e ) vl »j,-'f"f“"5,000,_:
Py Insurance premium-for one machine per annum N < ~ 28,000
~|-Shop Supervisor's’ monthly-remuneration - Sie] & 15,000
> | Cost ofr repairs and maintenance per machine v > 247000
Power consumptlon of one machlne per ho“i:ur lfJunlts @ Rs. 5 per unit- A0
There are Two |dent|cal machmes in the: sh0p 3& X IS
Compute the machme hour t;ate frorn\the above details.: e o =
P & & 4 ;@ o 0 {:'-_;sf & ,;;’“v- B, ~
7 Q. 4 (a) The Nét ProF t,o?r Satish: Limlted fqr the yeai‘ ended 31St Marctf*»’2022 as: ﬁer
& > financial Records wasRs 5,00,000. ¥ 57 (10 Jmarks) -
:5;:4“’ o Ascrutiny of the flgures of the ﬁnancual accounts “and the cost accounts
revealed the follow"lng facts&.- (;\k- {q?‘ P
= o o N ks 2 po
Sr. No | .- e o Partlculal:s »\x N B Rs 2
A £ Admlnlstratlve ovérheads under recovered in cost accolnts 14,000 |-
12 _“|over recovery of depreciation in fmancnal accounts AE D > 30,000
3 S Lossx“due to fire as per financial a“ccounts _' vV > 2Q<QUO
N Abnormal wages charged in fi hancial accounts ,\;53'_«? | 1,00000] -
5 - ’Income«*Tax provision as per financial records” 3 200,000
16 ;;fi ‘| Loss due to depreuatlon*‘ih stock values charged in financial records - 40,000
7_‘ QY Factory overheads ou,er recoverEd in cost account’s ' : 9 i 30.,__(:100
g Interest oQ\InvestrQent credited in fi nahcral acoount %! Pl 20,000
19 ‘Bank lntetest credlted to flhanC|aI accounts g : e -~ 5,000}

MPrepare a Reconculiatmn statement and Fnd out the prof[t or Ioss as per cost records

A £
Q 4(b) from the folloizwng partlculars, prepare stock record by FIFQ Method
sm.- - ‘.. - . ﬁ{‘“) - “-,..;:\'v' (10 MarkS)
61\.:. i ,_: . .5\\ y - \; f\in" -._‘3.&.\. \»
Date Transaction Units Rate Rs
4-1-2014 Purchase 40 30
- 17-1-2014 _ Purchase 60 28
20-1-2014 Sale 50 35
84037 \Pages 0f 12 f”y.’
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. o P -
Paper )' Sub]ect Code 2310?\! Fmanclal Accountmg and Aud:tmg VIII Cost /A“ccountm;—
>

by '\_- b ™y £y

[22-12014 Purchase [ 80 29 p
<7 [25-1-2014 Sale 80 33
- [2871-2014 Sale 20 34
/| 30-1-2014 Purchase 100 26
£ £,
'\\- )\
\\;‘a’“ 31-1-2014 Sale 90 35 )
ﬂ The stock on hand on 1st January 2014 was 50 units @ Rs. 25 each. H
£ A 20 x5 s & N B
__55'3’ ,% &:_;:;f-‘" _z." 3 2 Og«,- Bs Q;‘ ; :5;3 4 ;
i Q. 4 \ Calculate the earmlngs of Workers £ B and Gfor the. partlcular month S N
= S Also Calculate Labour Cost of Wor°l<er A, B,WC and allocate the:labour yﬁé Y
2 costto each.J6 o & (20 “‘marks)&_
IS Nool = S Partlculars o A-| B _'“‘- C &
1 | BasicWages (Rs.) 2 200 | 300" | 400~ e
< - 2 | Dearness Allowance . 3 i 50% | 50% | 50% | .-
oy __Contrlhutlon to provident fund Of the- Employerx as weII as ‘that of“tﬁe <’
.[xemployee (8% of Basic and:D.A. ) .&f N
“Contribution to ESI Of theﬁEmponer as well as that of‘the employee (2°/&“of 4
<+ | Basic'and D.A?)" N S S
-~ | Thethree workers were employed on ]obs X Y, and Zin ttLe followu:fg oF
proportions r 4 A s Al ity R
X 3 3 =T ~ &Y 3
{Sr. No {Particulars 25 | Job X7 Job Y AJob Z | &
4| Worker'A 3 R v | 20% | 30%->] 50%,/
~2|WorkerB - Aok N 40% | 20% [ 40%
< 3| Wortker € o7 S “60% 1“0% 3&% RS
\,, :} \f\ \._i Pt N:-‘\ 3 i's, ¥ ’f“‘ M\:II
' Q5 A, D|st|ngwsh between Flnanaal Accountmg and Cosb Accoundng? (lwharks)\__
QS B. State the features of Halsey and Rowan method of paymeﬁ}t of remuheratlog‘?
,‘j\ ‘,fw" o : Nk (10 Markﬁ)
QS erte Short Notes* (Any Four out of Slx) X e (20 Marks)
A 1) Causes of Labour Turnover 2 ) .
“ 2) Material Turnover Ratio : 5 S
3).Gantt Task BonusPlan A e k!
4)" Direct GOSt «;’;”‘* 3 O __;'j:_'." L ’ »”
5 Selling'and Distribution- Overhead AN 3 (e e
- 6) Allocatron Of @verhead and Apportlonment of Overhead Ky
L "'-:q.’» nis &
? ke '. | - Q- - 5 N x\(’;‘gj A ‘ffﬁ \\
A - Lo TN s
...... 5 .\N :"M‘ _ - ..__\_I & =y h b ; ) ‘3:;“
N e oy o ) 2N \ iy
84037 A “Page 6 of 12 '
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Paper / Subject Code: 23115 / Direct and Indirect Taxation Paper -1 % &&

\

b

Time : 3 Hours -~ Total Marks : 100

All Questions are compulsory carrying 20 marks each

Exercise internal options wherever given

Figures to the right represent full ma\zks to the question

All questions should be answered Wir.t assessment year 2022-23,
All workings shall form part of theé*main answer. e
Use of simple calculator is allowed

Ll e o F

Q.1 A : Multiple Choice questions (any ten) (10)
1. Surat Gram Panchayat is a 3 : '

a. Company ; b. Eirm k3 o

c. Local Authority d. Artificial Juridical PerSon

N

. For a newly set up busine§s-, previoué year cap»’Be d T
. of 12 months only = b. more than 12 months
- 12 months or less than 12 months d. more than 24-months -

O Q

. Gratuity for non—gg‘&émmengqg}hployee_s"TEB exempt lpto a maximum of - =
.Rs.5,00,000 — < : <b.Rs.10,00,000 -
. Rs. 15,00,000- & ~d. Rs. 20,00,000 -

b

0w

H

. Employer Qbhtributiorj;tb Recogﬁiééd Provjdént Funq;;(RPF) is allowable uptb a maximum of
. 10 % of salary - b.12% of salary
c. 15% of salary 4 P d:9.5% of:salary

)]

5. In the case of Income under the head “Incom
allowed as a deduction only if it is paid by
a.Owner .- o 4
c. both owner and tenant equally -’

e from House Property”, the Municipal taxes-will be

b. Tenant
d. either by owner or tghant

- &

S. Rent-from Ietting;;'dut ofa gf)‘én plot folénd for gjaﬁiage, is.taxable u_n;aevr the hq’a’ia of

a. Income from.Salary o = 44" b. Income from House Propéity

c. Income from:Capital gains <~ d.Indome from-Other sou‘ri;\e’S
S5 & > e R g w2

7. Deprecjation is allowed in case of N

a. Tangible fixed assets only ..~

jib " _'_-_'b"."intang,ib"lggassets___oﬁy
¢. Tangible and Intangible assets

. d. Wasting assets .’
a. Taxable -

8. Gift received from a p(’)‘f?_i‘-'relativg;cj)‘f Rs. 50000 is
c. a Businéss expenditure

b. NOn-TaxapﬂJé‘
d.a business receipt

9. Mr..Nishi spends Rs. 5000 on the medical treatment of his de
handicapped to the extent of 65%. The deduction a

a. Rs. 125000 =

¢. Rs. 5000

pendent brother, who is physically
vailable to Mr. Nishi u/s 80DD will be Rs.

b. Rs. 75000 .

d:Rs. 150000

N7

able undé}’{he head
= b. Income from House Property
d. Income from other sources

10. Salary of Member of Parliament is tax
a.Income from Salary -

c. Income from' Capital gains

11. Bonus}demployeeé is taxa,bjé"in the yeér of
~a. Accrual” 3

! = b. Receipt
~ €. Accrual or receipt whichever is later .~

d. Accrual or receipt, whichever is earlier

12490 Page 10f11
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Paper / Subject Code: 23115/ Direct and Ig&irect Taiaiion Pagsr -1

12. Professor Phadke, who is employed with AJ College of Commerce, received exam-remuneration of
Rs. 5300 during the previous year. The amount shall-be taxed.under the head of

a. Income from Salary , ~b. lncon@:’fiorn Hog\s’e Property
¢. Income from Capital gains . Income from Other sources’

- ]
W - R
-~ % N b

Q.1 B State whether the following state@‘aﬁts are.True or Fajse (any ten) J (10
- Deduction for Entertainment Allowahce is avalfable to all employees >
Agricultural Income in Nepal is éxempt from'tax. =

Deduction U/s 80E is available to a Hindu Undivided-Family.

Uncommuted pension received by Gavernment g‘mployee aﬁéf retiremént is full/y\jé’)iempt from

PN

5. Unlisted Shares held for 18 months'is a long term capital asset s A
6. Municipal tax paid by_-ténant is allowed as deduction fo'r'deemeq to be let out Property:.

7. Cost inflation index is applicable for transfer expenses incurred on transfer of Capital assets
8. Mediclaim Premium paid by cash Rs.15,000 is allowed as deduction U/s ‘80D x

9

Dividend received from Indian company is fully exempt.

11. Capital gain on transfer of depreciable business assets is always short-term capital gain
12. Thirumalaj Devasthanam Temple is an.example of Artificial Juridical Person N
Q2A: e o e s
Mr. Shastry works-With M/s Xy Traders, He givesiyou the following information for.the year ended
31% March, 2022 -' & o] Oy ke 27 (20)
Puticulars o < = Rs.™ =7
1..3asic salgry 2 .8.00,000 pét annum
k2. Dearness allowance sy i P 125% of Basic salary
“1.3. Commission received

- 1,00,008"
4 Borius <7

Pkt o : Y 75,000
vance salafy received' e & S 87500
’j;ﬂ_c‘m’gse rent"iaIIOWanoe_T"{Exempt.wé 10(13A)'.Rs.25.000)] i 85,000 er annum
7 Entertainment allowance received R 75,000 per annum
< 44,000

‘Allowancg
2,500 per annum

0N
)oad. &

n ta‘)lxggéducteqff'{(d’rh sala{y:-,-.f“

N,

—

| 55000
66,000

—=0,000 @ 0

85,000
10,000

70,000
; d fr ) > 22,000
16. He aid.contribution to LIC Pension Fund 17,500

7. Expenses incurred on maintenance of his dependent son, who is [ 1,00,000

Sl‘lfferi_ng' from severe physical disability to the extent of 90%

—_—

12490 Page 2 0f 11
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L

Q.2 B : Mr. Kushal is partially blind (55% disability). He gives the following details for previous year

2021-2022, , (20)
Particulars House 1 House 2
Nature - Self Occupied Letout
Fair Rent 8,00,000 | - 10:00,000
Municipal Valuation b4 ' .10,00,000 }: - 12.00,000 |
Standard rent Ak e --40,00,000] -12,00,000"
Interest on Loan taken for construction of property . 3,00,000 3,50,000
Municipal tax paid by tenant - e & - A 210,000 |
Municipal tax paid by Kushal .~ S5 .. 12,000 |- 212,000 |-
Rent per month o o 5 B 71,50,000

Other information: Interest received on Saving Bank Account Rs.25,00D'. V\ﬁnning;from Lotter? Net

Rs.1,20,000 (TDS Rs.50,000). Dividend from the Tata Ltd'Rs.5,000. Compute taxable income of Mr.
Kushal for the Assessment year 2022-23. . )

~

Q.3 A : Following is the Profitiand Loss/Account of*Nilkanth-Homes" ownied by Mr. Prem Vijay, for the -
year ended 31stMarch, 2022: S AT . ¥ S (20)
<Particulars- o RS(D) N Particulars - -~ RS(D)
To Salaries ™ Nz e '6,60,000;|By Gross Profit A7 4" 14,32,000
(including'3,60,000 Proprietor's-salary) | . - Z|By Refurd of Income Tax ~F 18,000
To Profession Tax_ Ty = 2,500 [By Bank-FDR Intefest nd 18,000
To Loss by Theft™ £° 14,200 |(Netof TDS of Rs. 2000) . . A%
To Conveyance Exps. .. - Ny ~~1,300 |BySavings Bank Interest-- ~ 12,000
To-Printing &Stationery. - S " 2,500 |By.NSC Accrued Interest <. 20,000
10 Intereston Capital._. _ 30,000 " o <P
To Rent, " 5 -“:_- 24 12,0007 0 2N
To Depreciation on.: , e = ~ =¥
- __Furnitoré 10,000, £ - N2
-v__ Comiputers 17,000 5 27000 7 ) z
To Interest on'loan for soii's Marriage 530,000 [ - 5
To Personal-Drawings. - L . 30,000 :
To Net:Profit 6,93,500
i _TOTAL - . 1500000 ~ ~  TOTAL 15,00,000
Additional Informatiori: o »

a. He contributed to Pension Fund Rs. 60000, e
b. Depreciation as per Income Tax Rules is Rs. 47000,

C.. Loss by theft represent “shop-lifting” by customers. '
-d. Drawings include Life Insurance Premitim for self of Rs. 15000/-

Compute the Taxable Income of Mr. Pren_};Nijéy for th‘e"Assessment year 2022-23.

it

OR

12490 Page 3 of11

0312BDEBF29DS5FE7342449F41EFDFE2D



Paper / Subject Code: 23115 / Direct ang Indirect Taxation Paper - 1

-5 ~ ”~
'

Q.3 B : Mr. Quinton Dsouza is the owner of “Bakes a_n_d Cakes". He provides"j;ou the fdilbwing :
information for the year ended 31st March, 2022 . - (20)

Profit and Loss for the ended 31st March, 2022

Particulars @ Particulars .- X o @

To Salaries 2,75,00Q |By Gross profit : R . 12,60,000
To Travelling Expenses 15,000 [By Savings Bank Interest : 12,500
To Advertisement 35,500 [By LICMaty fity Proceeds - | > 3,00,000
To Interest on Capital 18,000 |By LiC Monthly Annuity o 21000
To Depreciation . 17,500 {By Bank FDR Interest ] _ 27000 .
To Bad Debts _ 12,500 N . |
To Misc. Expenses 3 40,000 < o o S

To Net Profit | 1207000 . o 20 B ;

| TOTAL A 16,20,500 [ TOTAL N 16,20,500 |-
Following further information has been prqgidéd; o 5 £ &

a. Depreciation allowed as.per Income Tax qués is Rs. g-ifboo;-. & o o
b. Adverfisement expensas includes Rs. 25,500/- spent for the advertisementin souvenir of a
political party. g & :

C. Rs. 10,000/-paid as penalty:imposed by fncome;t’;ix Officer; has been-mﬁongly included in
salaries. : > - ' :

d. Miscellaneous expense-ivrif:'lude expense of Rs. 9,500 paid in cash for purchase of stationery
and Rs.10,000 paid towards life Insurance premium for-wife. ;

e. ~Buring the'year, he had invested in Public Provident Fund acc_o_L"mt Rs. 150000

QA A M Parag Dabke purchased a house property on 20 June 1998 for Rs 19;50,000. He made
the following additions/ alterations to the house property. - - _ DG
Cost of construction of 1 figer inthe financial year 204712 Rs'10,00,000™
-Cost of construction of 2nd floorin the finarnicial ye r-2017-18 Rs 4,50, 0p’
_+He sold the Property‘on 21st January 2022 for R, 2,8 +50,000:paying brékerage of Rs 2,00,000
" He invested Rs‘ll,-.QS,O0,00Q.'__in ‘anew cg,’s‘idential Property op~18.3.202|_2_:§?

He invested Rs"'65,00,000"in Bonds:of Power-Finance \(?.drporation; Limited (Eligible) on 30t March
3 . oy e # ’- oy - 00

-~ Relevant Cost Inflation Indices are as follows

Previous Year Cost-Infiation Index
200102 ~100
-:2017-18 272
202122 ; 317
Cor_p'ptite his Capital Ga_i_nl_s-'for the As§‘éssmen_t--Year 2022-23 (10)
Q4B : Mr. Rishi is a citizen of UK, came 16 fdia for the first time on 1% April, 2017 and starteq 5
business in Pune He went back to U.K. on 1*May 2021 ang came back to India on 22n January,2022.
" Determin'é‘ his Res_idéntial status for the Assessment year 2022-23, (10)

OR

12490 Page 4 of 11
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Q.4 C : Mr Padmanabh Sathe purchased a House property on 21st June’ 1999 for Rs 29 75 000 and
paid Rs. 25000 for it's registratian.

He made the following additions/ alterations to the house p‘roperty
Cost of construction of 1% floor in the financial year 2011-12 Rs 7,75,000
Cost of construction of 2nd floor in the financial year 2017- 18 . Rs 3, 50, 000

He sold the property on 21% February 2022 for 1,95,20,000 paying broke‘rage of,gs”Z,S0,0Qg :
He invested Rs1,05,00,000 in a new residential property on 18.3. 2022

He invested Rs 15,00,000 in Bonds of Power Finance Corporatlon lelted (Ellgnble) on 30"‘ March
2022. The Fair market value of the property on 1.4.2001 was. Rs 32 00 000

Relevant Cost Inflation Indices are as follows

Previous Year Cost Inﬂatlon Index - 4

2001-02 : 100 o % 2
2011-12 184 o> 8 A 3
2017-18 o e D272 = & Iy
2021 22 S gf' 317 Rt b >

Compute hlS Capltal Galns for the Assessment Year 2022 23 . >

(10)
Q.4 D : Mr. Surendra has earned the louowmg income during tbe prewous year endeﬁ on 31"t March
2022. - (10)
| Partlculars ,, : A5 Rs.|
‘ 1. _Rent from house.in Pune, recewed in Japan 1 : -~ _6,00,000
2. Income from business in Spain, being’ controlled:from Indta | 4,00:000
3. Salafy earned.and received in Bangladesh - | 3,00;000
4. Professional'fees received in India = 2;'50,000
5. Interest reteived from State bank of India, in Nagpur ~1,00,000
8. Past untaxed profit'earned outside India; brought to*lndia - 4=1,50,000
7. _Agriculture Income earned.in India received in Sn. Lanka * 1 1,00,000
8. thdend from an Amerlcan cornpany\recewed m Rome 5 1,50,000

Compute| hls total i mcome for the assessment year 2022 23 assumlng as follows
: a). He is ReS|dent and Ordlnanly ReSIdent

b) ‘He is Resndent but not Ordlnarlly Resndent n

Q. 5A. Explaln the prOV|S|ons of De

preC|ation u/s 32 and the: concept of Block of Assets as per
:the Income tax Act

(10)
Q.5B:: Explaln ‘Perqwsntes u/s 17(3) of the Income Tax Act 1961 and state any eight items of
Tax-free perqunsﬂes ; e (10)
OR
Q.5 C : Write Short Notes (Any 4) (20)

a) -Taxability of Gift from Relatives under Income Tax Act, 1961.
b). ‘Annual Value of a Property

.C) Deduc:yon for Interest on Housing Loan under Income tax Act
d) Commutatlon of Pension

e) Explain the term “Person”and assessment year”
f) Deduction u/s 80U of Income Tax Act

hkhkhkhhdhkhdd
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Paper / Subject Code: 23116 / Expor;tsls;ih’rketiqg‘{i;hper -L-

(3 Hours)
Instructions :- (1) All questions are compulsory having internal options.
(2) Figures to the right ind‘icate full marks.

[Marks: 100

A) Choose the correct answer from the options given below (Any 10)
1) Export or Perish is a slogan given by for India.
a) Ptd. Jawaharlal Nehru b) Mahatia Gandhi
¢) IndiraGandhi < ~d) Sardar Patel

P :

Lo
[

2) The exporters faco"_

a) IP 4
c) Comm reial

_risk due to’ 1nsolvengy of buyers

b) Cargo.
~d) Polmcal

3) Agncultural goods are pan oflndla S___ &

expons _ \ 3
a)” Merchandise - X b)- Consultam:y __ K
c) Softwarew . i d)’ Transportation ; R

4) A complete:ban on |mports from a certam country is called
a) Courtyard b) - Embargo
¢) Nation restricts d): :Quota

5) GATS agreement was signed to open up the sector.’

b) Manu facturing

-a)  Transportation

" ¢)  Services d) ‘Merchandise
6) Indiais a member of v f 2 S &
a)" NAF’I:A 'b) ASEAN
€) SAARC d) EU

7) Industnal clusters/are given: fecognmorl as

a) -~ Towns of Excellence

b) Trade for Excellence
¢)  Industry for Excellence

d) Entry for Excellence

8) _are transactions in which goods:supplied do not leave country
a) - Deemed exports b)-" Dumped exports
)  Potential exports X c«d) Cancelled exports

10

“ini order to maximize their export potential

9) are allowed to self-certlfy their manufactured goods as originating from India

a)  Medium exporter
c) Micro exporters

b) -All exporters
d) Status Holders

10) The headquarter of IIP:is in of packaging
' a) New Delhi b) Mumbaij
¢) Kolkata d) Chennai

11)

10876

ASIDE mcluded Crmcal

1) Parks«» _
¢) - Starhouse

Balancing Scheme for export development.

b) Zones
d) Infrastructure
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Paper / Subject Code: 23116 / Export Marketing Paper - I -

12) Duty remission scheme consists of : .
a) DBK e -b) DEPB.
c) MA A d) EPC

Q:1 B) State whether following statements are True or False (Any 10)
1) Compared to domestic marketmg, export marketmg involves hlgher I'lSk
2) Saturation of domestic market and recession mﬂuence export busmess
3) India does not export to Asran countries at all. 57 &
4) Trade barriers help free'movement of goods and serv1ces at the global level
5) GATT was replaced by IMF in‘1995. ; :
6) AOA agreement treats foreign investment at par with domestic 1nvestment
7) Foreign Trade policy 2015-20 gives boost to ‘Make in India” of Government of Indla
8) Goods purchased under deemed exports can be.used for export purpose and not for
domestic sales

9) Special Economic Zones provides value addition to basic agncultural produce

10) FIEO acts as apex:body of manufacturing orgamsatlons

11) MAI Allows infrastructure subsidy.

12) Under GST reglme exports would be consrdered as Zero-rated supply

Q:2 Answer any two of the followmg '
2) Define:Export Marketing. Explain the features of Export Marketmg
b) Discuss the problems faced: by India’s export sector. A &
¢) Explain the Indra s services exports‘smce 2015 &

A . A

Q 3 Answer any two of the followmg o ‘ = :
a) What are trade barriers? Explain the Non- tariff bamers in export trade. ~v

b) DtscuSS the positive impact of regional economic grouplngs on lntematlonal trade.
c) Explam the steps mvolved in market: selcctlon process :

oy

Q4 Answer any two' of the followmg S o
a) What are the highlights of India’s Foreign Trade Pollcy 2015-20‘7

~b) Illustrate the role of Directorate General of Foreign Trade i in. Indla s export trade.
¢) Discuss the benefits available to Status Holders. :

Q:5 Answer any two of the following:
a) What is MDA? Explain its features.
b) Elu(:ldate the role of EPCG in export marketmg
¢) Describe ITPO as important orgamsatlon in Indlan export,

Q:6 Write Short Notes on (Any 4)
a) Benefit of export marketing to the natron
b) Domestic marketing v/s Export marketmg
¢) SAARC R
d) TRIPs Agreement
e)- Negative List of Exports
f) IRMAC

10876 Page 2 of 5
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Paper / S}lbject Codeff23101 / Frnancnal Accountmg and Auqltmg VII -fF mancnakAccounMg O ( { ;_)..1,

A . TIME: 3 HOURS MARKS 100
1 Flgures to the ri ht mdlcate full marks. ) & o
o 2 Workln g notcs fo forma part of your answer: - _- \» __,ji’_‘\- v;i?f-? R
f'\ g & (\ , 2% A
Q l A) Selett the apRrop riate an’swer f ron‘i“ ihe followmg [Any“l{]] & AN (10) & g‘f
%)) Interest;,Accrued but not due’o ‘on bank loan appears | in Balancé Sheet under the hea‘ud-of A@% e
N ,8) Trade PaYables __3;;'-*"" £ AR e) Other-Current Ll;iBTllthS & B <
Ab) Short:,r" erm Borrgwmgs \"3* & d) Shogt?Term P@ws:ons T ;{‘T (\,\9“_. ' &
é" : zQ r’““ ﬁ' byl ; gt 59
o 3
A Arrears of‘Preferen[ge’ d1v1dendgzs not paldcm the Intqrpal Reconsti’uetlon S@ﬁeme ::‘” {{(;,; Mo
il a) ﬁeblted in Capital Reductlon Acé"ount gﬁr::) No entry-appears aw o o A
b)aCredltedon Caprtal&ieduetnoqﬁccount d) Deblt@m Prefere"nce shareCapltal Agfcount é{‘r" '
5 S ey A & ¥ 3 O
3) Investment,Aceountmg is govemed by . o RS ‘ :"‘ AN K‘j?-'j Y
S oA 2O & o & & & g
§ .}\, b) AS 1 1 m{;\ R :‘ - .fJ: Q)AS 2 . {“,}- .f.\_:/"' /.\?M A&::" ‘:‘f_
J \w . v'{ ) “_?.“’;v B 'V\j _.,\"' -
= 4) Buy back of shares results‘m o 2% Fat N .
La) Redualon of Shire CapltaL A ©) Incféase in Gopdwﬂl o Py NS i
3 b) ]norease in Share Capital-’ S d) In/Erease in, General Reserve ; L N o
{\ (Y N 7 A \./ ?\ _.Q\ ,;;;;. ,:’}‘ Ni\}{l‘
5) One of | the followm g is not regardmg the 1ntemal Reconstructlon x_.‘..}??”' el @ £
; -4) No Formation of a'New Company . °c) Redllgfion of Capital o Af,i‘g\ Pé] e
~b) Reduglon of Llabﬂlty gw;,'- oz’ d) Ligy__iﬂation of_ i_(—?bmpanyjf" ‘;\ &
& S S V. 7 KA 25 4
6) ‘Whistle Blowmg is;& X o N g ol ' ,ss;v & ~
AN alWhlstIe for: Traffic clear c) ‘Not ReHomn g xllega"l actmtles‘* & =
' b§ 'An act oimvolvmg in illegal Actwmes «d) An actﬁo'f reponLng lllegal A‘ctlv:tles f\w\% S ‘
B CSR stands for & T b 3‘; & k’w
* a) Co y Operative Social Responsnblhty c). C’ommon Ser\nce Responmblhty o e
b) Corporate Soelal Respon51b111ty d} Corporate Serv1ce R\ponlng RS Y :
{’% B M Tt e
! 8) Copy nghts is shown in/ Company Ba]ance Sheet under the head o‘f :‘ &
_"a) OtherNon Current Assets- - ¢)Inventories - Ry RNy g
b) Imanglble Assets : d) Current Investments . ad o -
_ \*w9) One ofthe follong is not ayﬁxed mcpme mvestment A o
S a) Debentures A\ c) State: Govemment Bonds '
S 'b) Eqult)f”Shares o : -=:4l'"s' U d) Central Govemment Bonds B o R
. = _\ - - \\‘ _fw\{“' .,\\-,?, . .
oS> N7 0 e
;1 0) One of. the followmg is Bgf t the sources of buy back‘of shares Y e Q: . g Z\t\??
%] a) Capital Rédemption Reéserve " c) Profit and Loss Acgount Redl N7 3
b) Capltal Reserve A:‘ :__.\”‘-‘L“' / ~d) Statutory Reserve“ ' 5 i
115 Ex lntere\et price and Cum mtere‘st price. are the prlcgs reIatm %to ,\\fn RS
< a)Géodwill ./ A~ & ) Preference Shares (. S e
% b) Equity Shai:es S d) Debenturés &
12) One of the followmg is not the ethics of Professxonal Accountant g A
a) Accuracy : " ¢) Values
b) Accountabllity e d) Frauds
110377, 711’:‘ ‘g et - Page1of12 A N s
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and Less for U)e;;§Ear'endetf<'§l st Mafcﬁ, 2022 and the

Ao ' l ANy i .
Paper / Subject Code.«23101 / FrnancmlAcv:ountmg and Aquhng VII fF'manelaLAccountmg P

f.‘k ) ™ .»é\.-- %\:\ IF A

Q1B Match the fellowmg Items from ta’i:nle A anﬂ“B ( Anyjlﬂ) S o Nﬁ (_) o
B +°  Column A [~ n@g,u@-{-cel .Column B g B

4" 1. Balance in Capltal Reduetlﬁn Account a) . thecost of i mvestment_ P X
_.Q 2. Goodwill written off b)WIncrease m’number,of shares Beel &

,\ 3. \Panly paidiEquity Sh‘ares '5-?7 ] €)' Set of Standards and Principles X\ s»

42~ Wages and >s.and Bonus<; AY |’d) Premiufn on buyback of shares wntteﬁ off o
2 A5. Loosetools o el ) Exciluﬂgiltefest = , &

. *“f 1 6. PreeAcquns:thn dmdend:\v \ f) Transferred.fo to Capital Reserve {&gcount 3 .
RS 3;& 7. _Post-Acquisition Dividend g) “Cannot bﬁb’ought back oA EY
pad »«,3“" 8. . \General Réderve \\u’ o l;r)‘ Employées Benef‘ ’t‘Bxpensesm- &

~) Q:g* Secunt}QPremium 2a? % -i) Inventories o e T o
p."?’w :210. Code ©fethics AN A A7 J) Revenue Receipts ) Pl R
o’ £ 11. Subdivision of'Shares .+~ = | k) Debited to Capital Reduetlon Aceeunt g
” 2|12, ExcInterest price A £ ). “Free Reserve S R &
5 e X nl o Pl m)’ Transfeu%’d to General Reserve Account.’ R
i ‘_,..‘_J, ) \‘\f . nw 3 ,« > .“I?f W
£Q2 ,Pe’]lowmg 1s1he list bealancegex&acted ,ﬁ-om books~hf Camshzu‘itd as o+ F o>

< T31% March, 2022, I £ & & (20)_';-. .

X Y Ai’Part:culars b Rs.” Par,-tlculars R ~CRs. . )

. A Preml“ses a8y “*?e:’) 20 00 ,000; ‘“Sales A 5"*-\’ :3‘ 23,40 Q@O \

& Stoék (Iﬂ AprlT 2021) -7 4,50,000'| 6% Debentures _.. A 18,00;000 N
ivy Fﬁm:ture L 43,200 Surplus A/e (Cre"“dlt) X 83’000 A
ko | E)ebentures Interest Pald ' 54,000 | Su indry Credttors o 3’” 00,000 |.-
A &t Plant anqﬂ\dachme&y 18,00,000 Bills Payal A 2,28,000:} KX
2 o | Interint] DlvzdenQFund AT | \2 125,000 | General Reserve _:»‘;"‘-“ 1,50,000° e
" & Sundfy Debtors® oS 75,02,000,{ Provision  for Doubtfuj 3 21,000 &3
&5 Baef’Debts : & ,;ff‘ 12,660 Debs(On 1 Apnl 2021 )\y &
$§%*' .»Goodw:ll A A2 2,05000 Subscribed dnd Paid | Siip 24\00 000 [
o 9 *::“';’ ] L P & (ﬁpltal R I i 3
' ﬁ Cash and Bank bajanee R xI 09 1900 |-~ R o7 J §é‘" O
o Gene’ml Expenses & & 41,0104 ey N i o'y o
7 | Purchases \\., -5 11,10,000 ~ iﬁ_;e" % ey
,Prellmma ‘Expenses'" o &000 S AR P el L3
& [iWages 35* P $ 50090 & & & o
a Advertising \:.“, A (560,000 | < el i & o &
o7 | FreightOutward.” & 78,690 & @ 0
N Salaries Y ks 87,000 N 5 &
i ,Dlrector s Fees s i) 34,35&
i > v = 73,26,000 iy 73,26,000 |-
The:followmg adjustmentshave to.be made: 3 RE
<> L. Stockon 31%'March, 2022 was valied at Rs, 6,00 OOQ : O
2 Goods to’ tﬁe value of Rs. 15; ;000 were dlstrlbuted as free samples durmgzthe year. Buf no entry
" in this respect haSrﬁeen made..” : ; & o &
s B \3 Provide'for half ear’s degenwre interest. S A %4 e
S a4 The*prowsnon\fdr doubtfiibdebts on3 fst March: should bewequal to I% on sale\s*“ &
' LY S Direetor s Fee'is outstandmg to th\eiextent of Rs. 2 ,000 a"hd Salarles Rs. 5 OQQ )
; :“?‘ 6.. Deprec:atgi’remlsesxby 2%, Plant and Machmery by’S% and wnte off Rs /? ,200 on Eufrmture
: 7% Wnte off rehmmary expenses _\} - ) X U <;i?’"=



Paper / SlleECt Code:’23101 f Fmanclal,Accountmg and Audttmg VII Fmanctal Accountlng ;;}‘;t"j
Q2A The followmg is an abstract of Balance Sheet? of X Ltd: as on 31St March 2022:. Qf '(10 N
Liabilities ~ B .\ ~Amount’” &£ ~
1 ,00,000 Equ1ty Share Capitalof Rs. 10 each - S _10,00,00012;1;«-*'
1 4,000,8% Preference Share. Qaprtal of Rs. 100 each fully pald" £ '?”’4,00,0QQ§ &
9% Debentures'of Rs. 100:each 2l A NG A 2,00,000 Rl
Creditors _>° < s AT ¢~ 1,00000 | s
KY N e P 5 1700000] &
: Note Preference Dmdend is arrears for a year o o7 - D % o
lt ‘was declded to reconstruct the. company for ‘which the followin g scheme was approve‘d by court /«‘_ ?
1. Equlty share;capital be reduced to- Rs 6 each” fully paid-up. : “‘*w y
2. Preference QShareholders agreed: to accept 10% Preference Share Capltal amountmg to Rs
3,00,000. and arrears.of preferen‘ée dividend were to'be paid off completel y. ' .
3 9% DeS’éntures shall be converted into -equal numbers of lZ/&Debentures of Rs. 75 each. X
You are requu‘ed to: o b & o o A ) 2
5 PaSS J oumal Entncs and ‘prepare Capltal Reductlon Afc o &i:_"f & o Ao’
&S éiff’-\ & ,-<‘j- § £ &£ .5 5 .
& Q. 2 B) Followmg is the galance She”ef of Man;gh Itd. as on 3 l st MarclfT 2022, ¢ | 0)° 5 A
AT s’ V,Balance Sheet As on 33.1‘St March;?YOZZ ,{};.-’ o aY Qf}‘
;-'1? S ~Liabilities: T 0 Rs. XA Assets | RsS” oy
Eqﬁu;ty Share Capltal (Share of Rs, 10 each) 1+ 3,20 ,000 | FixedAssets o 5,60,000 /: i
5 6% Prefererice Share Qapltal Sy A 80,000 | Investments 120,000 " N
& {tSecurity Premium & (oo Ll _86" 000 | Bank balance™ °6,00,000¢ BN
__| Profit and Loss Afe R 1,20,000 | Other Current 1,20,000 &N
A | 8% Debentures BN Ao l,60,000j - Assets & *i“
* | Billg Payables 5 5,60,000 Ll e e &5
Creditors S seo00 | &7 & ¢
W Dther Current Llabllmes L0 24,000 e ‘;3 > T Y
& AN S 5N 14, 00 000 ; 13 00, 000 ro
7 = & i & S A - L ,xi
Keepmg m»-vrew of,all the legaLrequlrem,ents ascertam ‘the maxmtum numEer of equlty share, the company
" can buyﬁ’ack at Rs{12 per shéi'e being the current. market pnce Assummg that buyback is actually carried 3
out. Pass necessary Journal entries to. record the: above tran,sactlons AN o S 4 e
x\ Aa, \.., J\ \\ Qg? o o /\K ,‘x : ! 'v-; . &f;i‘-;"
Q_;S“Followgﬁgxs the summensed Balance Sheet of Akansha Ltd. as'on 31° March 2 2-:”?'— (20) "of
0N Liabilities <~ " Rs Y Assets” X ) %
3 _:_Equlty shares of Rs. 10 each | Goodwill S| 1,50,000 | __
| fully paid A | 5,00,000 [ Building - 7 3;00,000 | - g
| 8% Cumulative Preference oy o Equipments:- .1,30,000.|
.| shares.of Rs.10.each fully pard _4,00,000 ._'lnvestments 60,000 :
7%: Debentures of Rs. LO(} each | 2,50 ,000- Inventories 2,25,000 A
Creditors . © 2,10,000 | Debtors 1,60,000 | <~
{-Loan from d1rectors_,\ 30,000 | Cash & Bank 150,000
& X o5 & Profit and Loss Account 3] 5 000“ S
il o L2 13,90,000 Ky 13,90, 000
“There is. contmgent l’rabrhty oft Rs. 10 OQ@ 3 B TN -
~ Following scheme‘e‘f Intemal“Reconstrﬁctton was; approved by the Cou,rt R -rw' A

lf\ 8% Preference Shares to be reduced by RS 4 per share and fi nal ‘call was made nnmedlately to
make it fully pajd'of Rs.10-5" X &

»2, Equnty shares (0 be reduced by Rs 6<per share Face value bemg the same ‘"’f

i

_r"
5
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Paper/ S}lbject Code. 23101 l Fmanc:alAccountmg and Aughtmg VIL= Fmanclal Accountmg \{a
3. '[he Debenn(re holders agreed to, forego then: clalm by 20% and to accept S%Preference Shares of
:Rs.10 each’for the remammg I _ -
4;« Contmg&nt l]ablllt){\WaS settled atRs. 5 OUO & ‘-‘.’" A S .
Investijents were'sold for }@&50 000.,.« o ,&.. ' \ By
e ‘3“ 6 Loa;gfrom dxrcg’\tors was §fttled at SQ‘V ,\\\- Diel \} «‘ N
_,\{;\ 7 T@hglble lee'd assets bé. € revalued-as under: Bulldmg at»Rs; 3,20, 00& Equlpments at Rs;}I 20 000
&S 8 @mumulz{eﬂ loss and;ﬁltanglble;%sets to be“wntten 0
~7" Pass Journal Entiés (w1thggl’ nanatno@ and pregare CapltaLReductxon‘A/c and Notes on Slgére capltahn )
R theJiﬁoks of A?ansha Lt‘cj;aﬂer Ree%nstructlon“ 3 - ‘Q v »f,, 2 R }_;V &5
‘-'.W.}? N O3 (\F‘i.-‘ ‘\“’ ﬂ{{\“v ‘\ . ,\*C" ~ ,_:‘"* :{é’,’"" _x\/
el S o £ 5 OR X e v oy
o = > i’ & el el o e &
E ; Q.3 QFrom the f&]lowmg m\fonnathn of Mahesh\Ltd preg/are the Statement of: Pj'oﬁt and lfoss 3
S5 of the' Company for the ygar ended 3Ist March: 2022 as per the prov,lmons of the: tompames 5
T AG2013. O o & & & LM SR
' AS { = x\“ Parficulars & el ~Rs. [y
\3 [Sales 7 o i £,20,50,000.] o~
~ " [ Interest Recelved"‘on Fixed Deposns . 5 7 2,00,000 A
: é;- <" | Cosfof Materials Consumed AN A N o 500000 «© -
5 s Opening Stack of Finished Goods ¥y O o’ 2,00,000 A &
o & -Closing St6ek of Finished Goods & & ol £1,00,000 |~ -
o [ Salaries-anid Wages™' pad e ¥ & <1,20,0001 N
A 2 | Staff, Welfare Expenses o oy Y £ 30,000 S g
& & [Interést on DeBentures i e i A~ A 50,000 | " P
S & [Tntereston Ldan from SBI Ny Y > G 30,000 | = P
s A -Depreciation on Machinery .’ 25 o &y 130,000 [ §§3
o &' Depreciation on Office Furnitire e oy 20,0000 t
& A" | General Expenses™ & B i & 5,000 ,
o & [Elegtricity Charges < & X o7 12,000 | & %
o’ o2 Salesman Commission-~ el o i \G 15,000 & o
"“" 3 Discount Allowed - o N e 2 5,000 |~ it
~7 R “Carriage' Outward (- . AT o - 6,000]"
o > | SalesReturn A A <o B ~> 50,000 &
o’ «’ | Repairs and Mamtenance 3 o5 Ed) DS b 25;000 ;
8 " |Insdrance < A ¢ N ey 20,000 | -~ b
& Rent o £y i & & S 24,000 .= '
i 3 _[/Audit Fess’ __ o £y R P AN 25,0004}
S =’ | AdvertiSement Expenses . AN N o - 30,000 oy i
Mot r__'; Prowsmn for Income Ta& _.\;. X ‘i‘ e ) 53\,0?)0 o %
- Q’\ 3 B) On lst Apnl 2021 Mansi- had 8,000 Equnty shat‘es of PreQIBus Ltd. a{ a book value L N
bf Rs. IS pcr share (Face value“Rs 10 eacl;r) She progldes you thé further in formatlgn‘* e‘-:"-"(l 0)
A ~On 10tthpnl 2021 she purchased another 4 ,000 Equ:ty Shares of Preclous Ltd at Rs 16 per share
5 11»;« On 3l_s_t'-Augustv_2021 the ,J;j}fectors pf'_%Premougj‘.Ltd. anno:u,n'ced a r_i-\g"ht issue which entitléd the
X & holdérs to subs_g;-ibe three shares for.every twelye shares held at Rs. 15 per share: Shareholders can
2 transfer thcir.;’sight in fu_lli'.or in part; Mansi sold 1/6th of Erltltlemeng to Ajay. fora consjderation of
£ RB 2 per shqre and subscnbe the rést on Sth. September; 2021, - L &
Ly il S p w:dend for the year ended 3};1 March, 2021 was declared @20% by Prec:ous Ltd \and received
Rl < by Mangi on 30th ﬁeptembe;, 2021, -

year endmg 31 March, 2022, (Apply AS-13) :

10377 R ;‘.-j?.- L& Page 4 of 2. 4 W
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- You are required to prepare Investment in Equuty Shares of Prec1Qus Ltd

A/c in the books of Mansi for the
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Paper / Sub;ect Codc'“’23101 / FmanmalA\ceountmg and Audltmg VIL —~Flnanclal Accountmg
"’}> s \\‘ ¥ 'HI"M by .‘ ‘el\‘ ) f -“h.m ﬂ\%\‘: A‘m
Q.4 On1* June, 2021 Mr. Abhay Kumappurchased NommaFNaluc Rs:’ } 00 000,(;@{' 6% ,;“‘ T (20) )
Govemment Bogids (mtere§t payable on 1st Aprlf”l st uly, Tst October and lst J anuary) at e o
Rs 9] cum- mtercst each (face value:Rs 100. ) -t o X
On Ist Noycmbcr, Rs’ 20 ,000 Bonds are sold at Rs. 93 cum- mtcresl per band P A C
&Y On Ist Decemher RS. 10 OOQ:Bonds arc&old at Rs/ 100 ex- mterest per hond X ; b
*" On 3kst March %é22 the mbrket prlcapcr Govemment Bog:d‘ was Rs 86 HT: \\\ 3 \ §
& A% S & o % 4 _
Brepare Invcstmcnt in, 6‘% Goverm:ncnt Boncﬁsﬂccount n thc books of Mr. &Bhay Ku;nar for the year &
aended on ?a;lSt March’\2022 ( Apply AS- L3} Rt (,‘g_w & ,Wx o &
x;: 3‘6« o & “OR AP o o o
" il "r( N fF\ > \"‘ ,"Q‘: \L\Q I,‘(-!._ Filke £
Q.4 F OIIOWIng:s the Balance Sheet,of Vasant‘]:td as 0:1‘8 1M FL2022 L% < (20) ,Q‘"
ol {««f‘ ¥ el & BalancefSheet As on 31t March 2022 “ ’ % 7
4 v Liabilities Rs. “VAssets L Rs‘ N
Eqmty Shg(c capital (Shares of 1§s 100 each) 50,00,000 ’leed Assets 80;00,000 |,
-;} SecurltlesPremtum, A A ,\10 00,0005F Investmehfs _.%30 00,000-f="
A7 GeneraﬁRcserve A7 W - 22,00,000 | Debtors < °15,00,000:
" | Profitand Loss Ale - | 28,00,000 | Stock A 2500000 o
e SﬁDebcnture‘S" f»\%?:'*' o < | 40,00,000 Ba"ﬁk balancew : £
P Greditors 5 o A o 30,00,000 [ & &
|"Bills Payab]es ' § s _10,00,000: |- Rt & o
I A = I e
Ry a3 = < & \\ g ,5»?/ : = ™ N NS
4 Keepln g’u‘h view all‘the legal requ 1remeg§s ascertain;~ o *3“*}" Ko ,_..;55’*‘%” il
& ./ The maximum number of equity’shares thét Vasant I_Qtd can buy‘back 5 A Ko e
2\ The maz{‘mum prlqe it can offer {\ . x P f,:“ f X
R ass JDUI‘I‘Ia] entries é}ld prepare‘hts Balancef Sheet thereaﬁer Sy,how necessa;y notes. ’?“ o
3 % ﬁ'\ . At \,,- o
:_;.:';Q'S) a)Discuss arid explalmhc concept‘of Ethlcs?vlth reference to Corborate Ethigs s, o (10) '
' ”b) Dlstlngglsh betwee‘ﬁ Internal. Reconstrugf:on and EXtemaI rccOnstructlon (10) »
) ,C\ i
i oy ol rd s L A0 P o :
f‘QS) Write: Short Notes (Any Four) A 9 “"“ o “i20) A
A l“j Methods of Intcn]a Recons;gucnon = e & : : 3
B ,:2) Dlsclosure of Re’”‘erves & Sinplus in, Company Balance Sheet . \ :
Q' 3) Maxlmum Lumts of Blg,yback ~ s sl S
4) Ex-[ntcrest& Cum-Inerest Price " .' > &
5) QSR - \“‘3\ . oo e c3 o e e
ey x'\!;?w S 2 »f_’ v-.:':. L . ';?\‘;' _M’\:::' <N e‘\%;m
el R & o o oy o &> S
S e Ko ANE *w,un * Kk aiunn vl A g‘_\'
e K N B fi's o L e D
& BN A ) A Tl
{ - ".“-’_- fm-« i w“’“‘ \;i;x 4 i \.
\’“ \ \ ;‘-j < A 35 o '
& _ 2 . &
10377 Page 5 of 12
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' Paper?/ Sub]ect ﬁode 23,1:08! Busiriess Management Paper II \;}" HOY r X
e—___*"_ §'-'

';.M Y e S o B S V) ‘ 1‘[’)\0'2_'2_
’{—('chr;{\c,mﬂ Mcm mﬁqmm +\ (7

e 3RS 3 — & .Marks= 100

'NB: 1 All questlons are com ulsory Wl.ﬂl internal Opt]Ol‘lS‘ ; a3 3

2°Q. lani@ﬁcarryz MarkswndQZtoQScarry 15 Marks each. o>
. Working note from a part of the answer and haue to be: solved aftcr

Questmns and. not on thelast page of the answer sheet. ,;\

Q.1A CllOOSe the appropnate ansyver fromwthe followmg (Any Fen) ) % IQ t

i To achi leve wealth max1m lzatmn the fi naﬁce mana&er has to take careful@ecrsmn in reSpect of

«‘.-- _-m

(a) Investment < _ (b) Emancmg
(b) Dividend . (d)All of the above

ii. The Ob_]CCthC of ﬁnan01al management is to

L

N wu 3

(@ Max1mlse the revenues*-» 00 (b) Minimise the eﬁpenses ;
(b) Maximise the return QII mvestment (d) Mmlm[se the risk

o e

iii. In the notes on ﬁxed assetsof a company, closing WDV + Depreciation for the :\_'y_ea“r is equal to

i, %

(a) Opening Gross Block 1’ | N ;\-J' (b) Opening WDV ,
(¢) Closing WDV i (d) Closing Gross Block
iv. Following are examples of-verticai ana1y31s

(a) Ratio Analysis k (b) Cash flow statement

(¢) Trend percentages (d) (a) & (b)

v. Following is not a qumk asset : : .
(a) Loose tools ~ (o (b) Advance tax

(c) Bills Receivable ~ (d) Interest Accrued

vi. X Ltd presented the fellowing-‘informatidn

a) Shareholders fund 12, 50 000 <
b) Loan Fund 10, 50,000

¢) Fixed Assets 9,50,000

d) Investments. 10,00,000

€) Net Current assets 3,50,000

% The total of the balance sheet under vertical analytical format is

(a) 22,00,000 _ (b) 23,00,000
(c) 24,00,000 . & (d) 25,00,000
el & ¥ & mg@lofig
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Paper/ Subject Code: 23108 / Business Management Pg,jier -1
Wii. Capital Gearing Ratio is == . Felile o --f_lﬁ?“ &
(a) Balance Sheet Ratio _ ~(b) Revqg_i:iié Staten_lge'_ﬁ't ratio -
(c) Composite Ratio ' (d) Fun_@tional Ratio’
viii. Commercial paper isa type of 3
(a) Fixed coupon'bonds (b) Unsecured Sho_‘f_[{:.férm del:‘)t_.f?ff“‘ ok )
(¢) Equity share capital ;= - (d) Government bond v S X §
- # W,._"_‘, C \;'g’ /M"\_ ‘,o‘\ ’ i
SV e Y \ ‘- it ‘o\\.; : .'_“’\- “. Y
. I\I.‘\s v\._:. : “’9:\‘; _';‘:‘ o “;\g 7 \5:;\{ P
< ix. Which of the following is not a spontaneous source of short term fun,d:é‘.- :
(a) Trade Credit (b Acrrued Expenses
(¢) Provision for Dividend (DALl of the above .
x. Commercial paper are generally issued as a pric§§' '. ‘
(a) Equal to Face Value (b) More the than face value :
(c) Less than the face value (d) Equal to_'re_demption value E £
; : > K 25 3
xi. Refund of income tax is & . X X X ]
(a) Cash Inflow from investing activities (b) Cash Inflow from financing activities
(¢) Cash Inflow from operating activities (d).Cash outflow from operating activities
Xii. For the purpose of cash flow statement cash . 2% 2 o :
(a) includes only cash <Y’ b) Include.cash and saving account with bank
(¢) Include cash and current account with bank (d) Includes Cash , saving account as well as
current account with bank :
Q. 1 B) State whether the following statements are True or False (an}i Ten) 10

i. The wealth of corporate owners is measured by the share price of the stock.

ii. Owned funds is an Internal sousce of finance,
iii. One of'the few assets that is not usually depreciated is Plant and Machinery.

iv. Dividend can be paid out of capital but interest cannot be paid out-of }capital_._?‘"

. b - P - ; : A . \
v.. Common size analysis is used for comparing performance of the company in one year with that of
another year, e _ 2

i

vi. High stock Turnover ratio indicates high cost of Goods sold
vii. High Proprietary ratio indicates low risk for the creditors.

viii. In India, all types of short term ﬁnancing from banks must be secured.

11781 Page 2 of 16
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l’upgrf} Subjeqtfi(‘lode: 2l;ﬂ8 / Busi_l’i‘“'é;\ﬁs Manag\é"'r.nent Paper - II R

ix. Bill discounting i\s'/.---va good §o_u'rce of sl;xoft term ﬁn'an’cc to all firms.

*y

X. The statement of cash ﬂows shows the rolatlonship of assets to cash flows.

xi. Cash equwalent mc!udes mveslments that cannot be readlly converted in- to cash.

T %

Xil. Increase in current assets w1ll always result in inflow of cash

.g-

Q:2 Following is the balance sheet: ofSﬂvcr Lfa as on 31St March 42022 Youare (R
required to re arranggthc balance sheet m’\?emcal forni to show-th &
W S il \::\ .
a) Proprlrtor s Funds b) Borrowed\Fund L7 ¢)F ictiti us Assets‘*>
d) Intangible assets e) Quick Liabilities -~ f) Working capital
Liabilities Amount | Assets & Aﬁdount—!
Equity Share Capital 4,50,000 | Goodwill 35,000
Share Premium 45,000 | Land & Buildings 2,75,000~
General reserves - 1,60,500 | Plant & Machinery 1 3,60,800
Profit and Loss 1,28,500 | Furniture & Fixutres. : 1,28,200
12% Debentures 1 2,60,000 | Long term Investment a7 1,75,000
Bank Loan N i 1,50,000 | Shortterm Investment - 248,500
Bank Overdraft - N\ 49,800 Sundry Debtors ’ '1,69,700%
Creditors 3 s 68,000 | Bills receivable , & 12,500
Bills Payable 4 5,400 | Closing Stock 98,000
Provision for tax 35,800" Prepaid Expense - A 27,500
Outstanding expenses : 17,000 | Cash Balance . 29,300
& S Preliminary Expenses 10,500
Total 13,70,000 Toi‘,al 13,70,000 |
' OR
Q.2 Following is the Ttial Balance of EKNATH Ltd. ason 31 March, 2022. 15
| Debit balance Amount | Credit baance Amouit
Stocks (at cost) 5,00,000 | Share Capital ( Equity shares of | 20,00,000
Rs.100 each)
Fixed Assets (Net Block) 12,35,000 Generdl reserves 70,000
Sundry Debtors (Unsecured & 4,00,000 Loans from State-Financial 3,00,000
| good) : ' Corp : -
Staff Advance ~ 97 ,400 | Provision for taxation 11,000
Cash on hand 60,000 | Net Profit for the year ; 2,70,000
Bank balance 4,94,000 | Profitand Loss A;/c (Opening 1,00,000
balance)
Share issue Expenses 26,600 | Short Term Loans 50,000
Bills Receivable — Trade --38,000 | Sundry Creditors 1,40,000
[nvestment (at cost) 75,000} Unclaimed Dividend 5,000
Total 29.46,000 | Total 29,46,000
11781 Page 3 of 16
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. I.'Additionajlé;'fnforrtlaticn:

Vv

S

Transfer to General Reserve Rs. 50.000. >

1. & :
2,-'Directors recommernided 6% dividend. Y s o & 5
3. Out ofdebtors, debts due for-more than six monlhs were Rs. 52 000. 3
4, Sundry Creditors included creditors for g goods Rs 1,05 000 while the remalmng are for
' expenses. - :
5. Loan from state financial corporation is secured against: stock

6. Market value of invesiments is Rs. 78,000 while its face value-i s Rs.
T Ignorc prcvmus )car s f'gures and corporate leldcnd fax.

60,000

3151

T

a) Current ratio b) Stock Turnover Ratio ¢) Liquidity Ratlo
d) Debt Equity Ratio ¢) Gross Profit Ratio f) Net proﬁt Ratio
11781 Page 4 of 16 '
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Prepare balance shcet"as on 3 1St March 2022 as per Iegal requnrement aﬁcr conmdcrmg the above
adJustments : _
Q.3You are fumlshcd with the followmg revenue statements for the year ended 15
March You are asked to prepare the: “Trend Analyszs \

'_Partlculars 2019 2020 2021 2022 ;
Sales 50,00,000  60,00,000 72,00,000 | --86,40,000 |
Less :Cost of Sales 32,00,000 | 38,00,000 | 46,00,000 58,00,000
Gross Margin. ~ 18,00,000 22,00,060 | -£26,00,000° 30,40,000
Management Expenses 3,00,000 | %3,50,000.[~ 4,00,000 4,50,000
-Sales Expenses j 5,00,000 | ‘% 6,00,000 | - 7,209,000 8,64,000 |

-[ Interest on Borrowings 3,00,000.. 4,00,000 5,00,000 | 36,00,000%
Total Expenses _11,00,800 |  13,50;000 | 16,20,000 .~ 19,14,000
Net Profit before Depreciation & 7,00,000 8,50,000 | .~ 9,80,0004] 1 1,26,000
Taxation ; : vl
Depreciation 5.00,000 | - 4,50,000 6,00,000 6,50,000 |
Profit before Taxatjon 2,00,000 4,00,000 3,80,000 4,76,000:
Income Tax 80,000 2,00,000 1,85,000 2,40,000
Profit after Tax 1,20,000 2,00,000 [ - 1,95,000 2,36,000

OR :
Q.3 Prepare a common size Balance sheet in vertical form from the followmg dctatls 15
Balance sheet of M/s Ashok Ltd ason 315t March 2022 o
[ Liabilities Amount Assets .. Amniount

_Equity Share Capital 2,50,000 Land\.& Bu1ld1ng,? 2:00,060
10% Preference Share Capital 1,50,000 Machinery 2,50,000 1
General Reserves 2,00,000 | Furniture 2,00,000
8% Debentures 1,50,000 | Investment > 3 90,000
Creditor s 1,00,000 | Stocks - S 35,000
Bills Payables 50,000 | Debtors .50,000 |-

Cash 40,000

Bills receivable : 30,000

Preliminary Expenses 2 5,000

Total 9,00,000 | Total 9,00,000
Q.4 Calculate the following ratios. 15
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A <% ;
Balance sheet as at 3‘1“‘ March, 2022 A
Liabilities Amount ; _Assets e | Amount’
Bills Payable 25,000.| Fixed Assets 1,25;000
Sundry Creditors 50,000 Sundx‘yDebtors . 350,000 | -
| Debentures 1,00,000 | Bank Balance™ 3 25,0004
Reserves < -50,000 | Inventory 1,25000"
Equity Share Capital 50,000 | 3 5 &)
Preference Share Capital 50,000 _ B &
Total 1 3,25,000 Total &) O 3,25,000 «
' =< Profit and Loss Account for the year ended 31 Maroh 2022 ~© o
Particulars Aﬁi‘ount ._.Partlculaljs-. | Amount-~.
To Opening inventories 75,000 | By Sales 5,00,000
To Purchases 1,50,000 | By Closing Inventories 1,25,000
To Manufacturing Expenses 50,000 | By Profit on sale of shares 25,000 |
To Direct wages X 1,00,000 | 2
To Administrative Expenses 25,000 | -~
To Selling Expenses 25,000} ) \ >
To Loss on'Sale of assets 27,500 S 3
“To Interest on Debentures 5,000 ) )
To NetProfit 1,92,500 &F 0
Total 6,50,000 | Total - i 6,50,000
D OR (& ¥
Q.4 Following is the balance sheet of X Itd as on 31 March 2022 together with
supplementary information for the year ended on that date,
You are required to com pute the following ratios.
a) Current Ratio b) Liquid Ratio c) Proprietary Ratio
d) Stock Turnover ratio e) Debtors turHOVer ratio .
Balance Sheet as on 31 March, 2022
Liabilities . Amount [ Assets’ Amount
Paid-up share capital 2,00,000 | Goodwill 30,000
Reserves 50,500 | Building - 1,20,000
Profit and Loss A/c 12,250 | Plant and Machinery 29,000
Bank Overdraft 11,250 | Stock - 66,000
Sundry Creditor 36,000 | Debtors 85,000
| Provision for taxation 20,000 '
|;I"0tal 3,30,000 | Total 3,30,000
11781 Page 50f 16
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~ Paper/ Subject Code: 23108 / Business Management Paper-11 o &
o B .0 ”o - .“%1 \5\: :;;i?f?' é:;fw_
‘Additional information : s ' “4 = '
Part_iculars __; ki k Adl‘lounﬁw:§
Sales for the year o X : 8,40,000
Stock on 31%' March,:2021 5 460,000
[Grosspra | [ o
Q.5 Erom the following suimary balance sheet of Zebra ltdﬁi‘v"‘f’repare» a'cash flor hs:\"tatemen%;f’S as per

AS:3 for th e,,yﬁé"a'r ended 31 March, 2022 by indirect method.

Liabilitics 2021 [ 2022 | Assets S 2021 [ 2002
Equity Share Capita 2,00,000 | 2,50,000 | Fixed Assets +3,02,500 | 2,85,000
10% Preference Share | 1.00,000 | - | Debtors 1 60,000 70,000
Capital y 2N & '

5% Debentures - 50,000 | Stock 1,00,000 90,000
Capital Redemption R 50,000 | Bank 245,000 [ 30,000
Reserve . 12 A - o
Profit-& Loss A/c 1,25,000 30,000 | Preliminary B 30,(]_00" 20,000

: - expenditure o 3

Creditors 75,000 | 70,000 \

Bills Payable 37,500 45,000 2

Total 5,37,500 | 4,95,000 | Total 95 5,37,500] 4,95,000

Additional Information o
L." Preference shares were redeemed at 10% premium on 1-10-2021 with half yearly dividend.
2. Fixed assets were purchased for 97,500/- on 01-01-2022. _ o¢
3. Interim dividend of Rs. 20,000 /- on equity shares was paid. ‘
4,

Fixed Assets having original cost of Rs. 1,00,000 on which accumulated deﬁfeciation was Rs.

30,000/~ was sold on 31 December, 2021 at Rs. 40,000/- . &
OR i
Q.5 Prepare cash flow statement from the following summary balance sheet of Ritesh Ltd. 15

Balance Sheet as on 31% March

Liabilities 2022 2021 | Assets 2022 2021
Creditors 25.000 | 32,000 | Cash 2,000 =
Reserves 23,000 | 47,000 | Debtors 45,000 | 60,000
Debentures 60,000 | 50,000 | Stocks 45;000 | 55,000
Outstanding expenses | 6,000 6,000 | Prepaid Expenses 4,000 | 3,000
Share Capital 1,33,000 | 1,14,000 | Investments . 127,000 [<3520,000
Bank Overdraft - 12,000 | Staff Loan 4,0004 3,000
Fixed Assets | 1,20,000 | 1,20,000
Total 2,47,000 | 2,61,000 | Total | 2,47,900 | 2,61,000
11781 Page 6 of 16
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Paper / Subject Code: 23108 / Busiriess Management Papér - II < &
I G vy _ Q o
'.Addmonal Informatlon : Y : o
1. Balance of Depreciation A/c as at'1-04- 2021 and 1 04 2022 was IS 000/~ and 20, OOO/’-
respectively. S
2. Machinery of Rs.5,000/- on which deprﬂmatlon ofRs 1 000;’- was charged was sold for Rs.
4,500/- ; =
3. Staff loan of Rs. 1,000/~ were written off during the year
; e J 3 =) b w.? iy
Q.6:a) Explain. the functlons of Chief' F mancral Ofﬁcer M;; », 10
=-b) What is Business Finance? _Clasmfy st;i_urces of fi f_la"nce. P o8 10
G . . 7 ” 4 ( ‘_ & F - o \::
OR . S Y
Y S/ 2 Q D e
Q.6) Write short notes on (any four). > ") : ~20
a) Cash flow from financing activity. 3
b) Income Statement ratios.
¢) Importance of financial management. & T
d) Wealth Maximisation &
¢) Common size statement
f) Net worth.
* % ok ok ok ok ok )
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S NG 251

Paper / Subject Code: 23122 / Psychology of HumahvBehagif_ﬁilr at work "Paper_.. T

Time: 3 Hours _ Marks: 100
N.B:

1. All questions are compulsory : :
2. Figures to the right indicate full marks -

Q1 A. Complete the following statements by selecting the'appropriate answers (Any 10) . (10)

i. A manager performs.the ~role to represent the organization to an outsider.

a) resource allocator e { o

b) negotiator

¢) spokesperson

d) figurehead " : 4
ii. ' skills encompass the ability'to apply specialized kiowledge o

expertise. . ' : <.

a) ‘Human

b) Technical”

€¢) Conceptual

d) Interpersonal

iii.  The science that seeks to measure, explain and sometimes change the behaviour of humans and
animals.is a called
a) Psychology

LR _~b) Sociglfﬁsychology .
“ c¢) Anthropology o
. d) Sociology . 25 &
iv.o- The component of an attitude is a description of or belief in the way things are.
S a)  behavior 5 : 1 )
b) motive

c) affective
d) cognitive 3

\ A ___is the degree to which employees believe the organization values their contribution

~ and cares about their'well-being.

a)  Organizational Commitment
b) Psychological Empowerment
¢) Perceived Organizational Support
d) Job Engagement

vi.. response passively allows conditions to worsen.

. a) Exit

b) Voice
¢) Loyalty . ..
d) Neglect 2

vii.  Affection, bélongingpess, acceptance, and friendship are elements of need.

' a) basic :

b). safety
©) esteem
'd) social.

10499 ) Page1of 7
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viii.  In McClelland’s theory is the drive to excel, to achieve in relation to a set of
standards, to strive to succeed. - '
a) nAch
b) nPow
c) nAff
d) nCom ;
ix.  The perceived fairness of the amount and allocation of rewards among individuals is known as
a) interactional justice
b) organizational justice
c) distributive Justice 3z
d) procedural justice _ ; ’ S
X. S theories consider )personalgﬁualities and characteristics that differentiate
leaders from non-leaders. sy e L
a) Behayior . \ ) o - \
b) Trait’ < o : : gy
¢) CGontingency g 3 k) .
d) Situational Leadership £
xi.  Fiedler developed the questionnaire to identify the style of leadership. '
a) LPC - ; ' i
b) CPL 3 : N
C) PBL : ¥ w 3 \ 5
d) BLP > : ; 3
Xii.- o ' is a characteristic of transactional leaders.
a) Idealized influence 7 X
b) Intellectual stimulation '
c) Contingent reward
d) Unconventional behavior
Q1 B. State whether the following statements are true or false (Any 10) ~ ) o)
i. Managers who act as a conduit to tranSmit information to org’&nizationaljihembers are performing
the role of a- monitor _ : -
ii. . The study of people in relation to their social.environment or culture is called Psychology
iii. . When a manager has the ability to work with, understand and motivate other people or group he
has human skills. :
tv.  Job involvement describes a positive feeling about a job resulting from an evaluation of its
characteristics. e
V.- Employee Engagement is the individual’s involvement with, satisfaction with and enthusiasm for
the work she does.
vi.  The voice response means passively but optimistically waiting for conditions to improve. .
Vii. A theory that relates intrinsic factors to job satisfaction and associates extrinsic factors with
dissatisfaction is known as Equity Theory
viii. - Goal setting theory says that specific and difficult goals, with feedback, lead to higher performance
iX.  Expectancy theory of motivation focuses on three relationships.
X.  Agreeableness has been found 1o be the most important trait of effective leaders.
Xi.  Relationship ori ented leaders perform better in extremely favourable situations,
Xii. A protégé. is a senior employee who sponsors and supports a less experienced employee, called a
mentor,
10499
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Paper / Subject Code: 23122 / Psychology of Humgn Behayjjéiir at wgi;ifi’aper;j I

Q2 Answer any Two of the following : (15)

a) Define Organizational Behaviour, What aré the functions of a manager? :
b) “Managers are faced with the challenge of dealing with workplace diversity andng]oba]izati_gn”

Discuss. _ _ s <
¢) How do organizations help their employees achieve work-life balance in a bid tomotivate them?

Q3 Answer any Two of the following: - b (15)

a) Explain the concept of auiguﬂe and discuss the relationship between its components
b) Define job satisfaction and discuss iﬁn detail how it can be measured.
¢) Discuss the relationship between job satisfaction, workplace deviance and absenteeism.

Q4 Answer any Two of the following -i‘EIS)

a) Define motivation. Explain Maslow’s hierarchy of needs theory.
b) Explain Herzberg’s two factor theory of motivation 5
) Discussfin___}odetail the concept of organizational justice in relation to Equity theory.

Q5 Answer any-;;i‘wo of thﬁeﬂi.'ollowing_ Bt ' _ ) (15)

a) Define leadership. Explain the Trait theories of leadership. N
b) What are the'key characteristics of ¢harismatic leaders and how do they influence their followers?
¢) -.Explain the concept of mentorship. Discuss the functions associated in a mentor and .protégé
relationship. I ; & - t oY i
Q6 Write short notes on (Any Four) X = (20)
a) Creating a positive work environment
b)" Coping with temporariness : :
¢) Exit Voice Loyalty-Neglect Framework :
d) Theory X Theory'Y

e) Cha_racteristic_:s;-of high achievers
f) Michigan State Leadership Studies

R ok ok R ok kR ek K
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2. £ ™ k- il ™ o, £ by oy e i
Q Papei‘ff Subject-Code: 23102 / Business Maqaﬁ’ement Paper-1 v AT X
o o= h': i —= W T ‘,\‘“ 5 >
,\‘:}Z\ &:?:} r‘}g‘}r ,»/ ") M . Q - D A ;“ S ({
v o ST PR e R R oY o 4
. 2 o o o Kos o o S &
S5 Y %w s 4 o ) ;\.”. - ) o 0 s
\3 '_:73‘_::? B Tlmg:;»,B hours N .\_‘;p- \‘A Mgrks‘ 100 i
e ' ,.‘.{-.\“t NG o i d .t i) A e
Note: 1. All questions'are compulsory ~; ot N A £
A A e SR T o o b e
2. Figures tg\,fhe right indicate fullmarks. 5 X O &
JE Wi 1',:?‘:_‘ '_-_\‘;._. Y e e e e \"A_“t
Q.1.(A) Fill iugth’e Blankswith appropriate words and rewrite the samg. (Any 10) 10 marks-:
= &0 1S 2 A
£ A s e o R Vs o L/
1. The lower levelmanagement requirés - skill more than other skills. s
(Technical, ‘Hiiman, Lgmgﬁl, Conc&gt’f“ual) A &:W la%s B
2% Jig7a systematized body of knowledge that _is_Aﬁhiversallx%cceptedgz""’ i
- (Art, Science, Profession, Planning) - > oY ol o
3. % is kn‘_'ox;vn as the Father qffModem Managemengfl‘-’ "
(Henry Fayal, F.W. Taylor, Robért Kahn, W.G. Scott)~ _ &
4, -Plans are meant for repeated use. (F orecast, Decision; Single use, Standing)
5 In- both suppr-ib’f and subordinate collectively-formulate the plans. . N
(Decision Making, Management by Objectives, Span of Control,_Qelegatio_n-"p‘f Authority)
o oo s - > o il Y
i % '.._M}- _‘-.- / _‘ . \M ;:* ::\ , i "N ; 5
G- i8-a process.of identif} ying and selecting a course of action to solve a specific problen. 5
(Directing, Communicating,.Decision Making, Leading) .\ RN & P
7. in. organization pecple are consciously coordinated towards achieving a common goal.

{(Informal, ‘Formal, Ttaditional, Departm ent) it .
" 1 ‘\\ . W . v..

& o N .
8. ~is a number of subordinates who can be supervised a.n;_i__-‘“manageq_'_"eﬂ'ecti\(ely.
(Delegation of authority, Departmentation, Leadership, Span of control) g '

By

L

9. Unity of . im_p'l'ies one subordinate should receive instruétions from one superior.
(Direction, Objective, Command, Control) ' ; '

10. s coricerned w1th the _q’ieésuremenf of the cost and value of -people in the
organization. (HRP, HRA, Job Analysis, Motivation) '

11. is a process of ‘evaluatin g:'the worlg;jjérfonn anj:,é of employees.
(MBO, Delegation’of authority, Performance appraisal, Recruitment) .~ ¢
12. - isthefirst step i__lifﬂie sclect__i,{ffﬁ process. % ' \ >
(Job analysis, Recruitment, Staffing, Advertising)
Q. 1(B) State whether théifollowil;g%tatemeﬁtg are True or False: (Any 10) 10 marks
1. Management is a social science.» - -
2. Theory Y assumes that g_h_c“fvale are self-motivated and seek responsibilities, *
3. Contingency approach is also known as situational approach.
4. Objectives are single use plans. = )
5. Corporate planning_';i's related with a specific department planning.~
*6. Planning is secondary function of management. = o
7. Matrix organizgti'on strug}gfe is alsg;ﬁﬁown as hybrid structure. :
8. Indelegation of authority, superior transfers both authority‘and responsibility to his subordinate.
_\;' o 3 -;%7-"’ » l:ff? "\ , ' .
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2 Paper/ Subject-Code: 2_;@2 / Business Ma%ﬁement P%per -1 v
.':;?\_;_ !- Y A_. Y ;.f - jﬁ i “\.“ ‘_.,_“" Y A
%‘\V 4 A% ! 5;: \3‘"-. w-.‘ "z;v. M{E”W "«M' N
b A A i 3 \ w 3 -'_""‘.-\'
oF & T W O :
e Pt o o "‘\I;:’ f%"‘” y _;«52- :
9. Vlrtllﬂl organization is temporary in qature o Y N e
o 10. Jobdescription includes minimum qualities requlrcd from the candldate A
A0 11 (gampus recru.tment is an mtema‘\l%burce of @anagemen,t

P ‘\2 ~0 il i A
$ & o g R Pk o o
Q. 2 Answer any two of the followmg (15 marks)
S a): Define management. -Discuss dlﬂﬁrent managerlal slqvls A el o
O by Descnbc the ad mlmstratlve approach oﬁg{ﬁanagement 3 N\
o . Nc) Dlscuss different functions efmmaggm%nt A 2 A e
Q. 3 Answer any two of the followmg - (15 marks)
a) State and explam the meaning and merits of plannmg V il

b) Briefly explain the components of planning.
.¢) Describe the steps in the declslon makmg process

e 3 s;:.:'
Q.4 Answer any two of the follomng (15 marks)

_ a) Define Organizing. Discuss its prmclplcs & & % ¥
&8 b) Explain the bases of departmentation. <~ < Y AN o
b) Describe the barrlers in the delegatlon of authorlty _ & . »<;»

Q.5 Answer any two of the fnllowmg | (15 m;il;ks)
A3 a) Discuss the mierits and demerits of Human Rgsource Accountmg ) &
b) State and explam the: ﬁutvrcm ‘methods oftrammg o &
) Describe: tcchmques of performance appraisal. ; ol e E:
Q.6 Write Short Notes on :(Any four) (20 marks)
+a) Managcmem as an art - _ ; 34 :
b) Characteristics of Plannmg : : (.
¢) Advantages of Strategic Business Unit e i
d) Features of Matrix Organisation _ ) O
* €) Internal Sources of recruitment S - '
« f) Importance of job analysis
*****g;%***** <
! R o
5 :‘:&;‘?_ i &
v - O O
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Time 3 hours

Q.1

Note:

Sem-Ve . .. adlulzere
Paper / Subject Code: 23129 / Elements of Operational Research Paper-1 o B

Total Marks :100

1. All questions are compulsory.

2. Figures to the right indicate full marks; : ,

3. Use of non-programmable scientific calculator |s allowed.
4. Graph papers will be supplied on: request. -

A

-~
vii):.,
viit)

i)

11038

iv)

v)

' Operatlons Research approach IS

Answer whether followmg statements areTrue or False

In group replacement policy, group replacement as well as rndrwdual replacement is
done. . ‘c\

Small firms can derive maxrmum profrt from the use of operatlons research technlques

As the life’ of a mechaniical machmes mcreases its operational eff‘aency also increases

with time. 3

Linear‘programming is the. mathematrcal techmque used to solve the. problem of
allocatlng limited resources among the: competing activities. -

Each and every linear programming problem always has an umque solut|on

- The feasible region of a linear programming problem is always a convex set.

Allocation’in a dummy destination, represent the surplus at the correspondmgsource
In Vogel's approximation method (VAM), the difference between least cost and next
least.cost in each row or column denote the penalty of not using the Ieast cost route

> Select most appropriate cho|ce forthe followmg

a) SHintuitive, b)  objective
_c)_’\‘ multldlscrplinary d)  all Df'fheSe

3.Operat|ons Research technlques are powerful tool for

a) -Decision rnakmg : o b) Astrology
¢) .. Music d)f Genetics

When all the values of replacement ‘ratios (or minimum ratio) in a srmplex table, are
nnegative orinfinite then it indicates that the solution is

a) - unbounded b) degenerate
¢} infeasible d) none of these

To covert ‘<’ type constraint into ‘=’ type, variable is used.
a) slack b) surplus

c) - artificial d). “none of these

The transportation problem‘ is a balanced transportation problem if

a) number of sources is equal to number of destinations
bl: ' number of sources is” not equal to number of destinations
fe_)” total demand is e«qual to total supply

<"d)  none of these

Page 1.0f 4
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Paper / Subject Code: 23129 / Elements of Opbrationa‘]_:g‘e'search Bs’f'per- I @ >

vi)  An alternative optimal solution exists ever opportuhity
cost corresponding to unused route’is
a) greater than zero
b) less than zero
c) equaltozero
d) not equalto zero : .
vii) North-West-Corner Rule'is used tq;ﬁhd o
a) an optimum solution. < & B
b) an initial solutiqq\-&ependingl'zon cell location only and irrespggtive of
cost of the cell. ~T e o= .
c) initial allotments by considering the minimum cost of the cells,
d) \.__,::?II of these. : B % s
C Answer-in one or twé sentences: 2 ' &5
i) State different types of sudden failure, Y D ;

i) Define surplus variable in L;P.p. :
i) = What is meant by group replacement policy? :
iv) ~‘What is meant by feasible solution'of a transportation problem?

v) . What costis assigned to a prohibited routeiin transportation problem squtioq_?ﬁ'

20
< and 300, units of a product respectively to-four retail'shops P, Q; R and s with demands’g0
units, 75 units, 75 units and 165 units respectively. The transportation cost per unit is given in
followingtable:_f; o) o <
' Distribution Centers o [&:tai!,.gb‘bps S
i B’ s P QM R S ]
A > 2|5 [543
: B i 43 [8 [® 34
C w7 |4acfa 7 &
Determine optimum distribution plan, % : Rt 1
L3 | " OR
B Solve thefollowi ng transportation problem for maximuim profit. 20
il ' Profit in Rs. Per unit :
Warehouses Markets Availability
M1 [ M2 [ M3 | ma
w1 23 5 [ 6. 1 200 :
- / //" - /’ i _!l"\ 7 \’_
W2 8 18 | 10 7 ~500
} WO | | 0 \00 | ¥ g 2
. \1)% 20 13 30 pol € ¢ o
__._ — 2 \ = _"&
L Demand 180" | 400 | 100 | 320
“ i, = ./ \;{l
e 2 L4
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Q.3

Q.4

A

7 Attempt;ANY TWO of the following:

11038

Paper / Subject Code: 23129 / Elements of Operational Research Paper- I

A factory has three departments to manufacture three products namely A, B:and C. Each unit
of product A requires 6 hours in department |, 4-hours in department il and 2$pur in
department IIl. Each unit of product B requires 8 hours in department |, 2 hour in department

20

Il and 6 hours in department Ill. Each unit of product C requires 4 hours in each of the three- .

departments. The working time of these threéjaepartmqnts is 180 hours,108 hours and 186
hours respectively. The per unit profit contribution of the three products A, B and Cis Rs. 6, Rs.
8 and Rs. 7 respectively. Formulate the above problem as linear programmiing problem‘and
solve it by simplex method. ’

OR

i) Two types of cattle feed Aand B containing nutrient\sff.\h, N.and Ns are availgblé atRs. 30

per Kg and Rs. 40 per Kg. One Kg of cattle feed A contains 1 unit of each Ny, N; and'N;

respectively. Whereas one Kg of cattle feed B contains 1 unit of N; and 3 units of N and

2 units of N3 respectively. Daily minimum requirement of Ny and N is 200 units and 400

units respectively. Whereas the daily intake of N3 should not exceed.350 units. Formulate

the L.P.P. and solve it graphically to find optimum solution. '
ii) Write'the dual of the following linear programming.problem:

= Maximize Z= 15%; + 13X, + 17X,

Q subjectto 7y + 5X;-6X3'= 28,
% 0 2X1-3Xa+4Xs < 24,
4X1+ 5X2+2X3 221, _

X120,%:20, X3 20~

A factory has 500 light bulbg.._THe failure rate of the

light bulbs is given below:

Year 12 3.0 | 4 5: o
Probability of failure: | 0.1 | 0.2 04 [0.2]01

If the light bulbs are'to be group replaced the cost perbulbs is_Rs: 20. Thecost of individual

replacement is Rs. 80 per bL_{IB's'. Find the-optimum r\gp'rlacementjﬁolicy for the light bulbs.

The-initial cost'of a machine is Rs. 25000 and the running cost increases with the age of the

~machine is given below:

Year 1 2 3 14 5 6 7 8
Bunning 1 ¢ 000 6000 | 7000 8000 | 10000 | 12000 | 14000 18000
cost(Rs.) ' '

Itis given that money is worth 10% per year and the scrap-value is nil. Find the optimum period
of replacement for the machine, N

For the following data find the bptimum period of repl'a.cement:
Initial cost of the:machine Rs.48000

Year 1 32 &) 4 S 6 7 8
| Operating '
s 8000 10000 11000 13000 15000 17000 138000 24000
cost: Rs. ;
Scrap :
o 30000 | 18000 12000 6000 3000 2000 2000 2000
value:Rs.

Page 3 of 4

03DC60205 IBDE4CBB191D4754CA47461 :;,;'

N
¥ |

15

10

10

10



Q.5

N

Paper / Subject Code: 23129 / Elements of Ogjéi'”'zitional:eige;earch{\lfﬁ&ﬁer- I

Attempt ANY FOUR of the following _gfﬁ;" N 5
What is replacement? Describe some in;!‘bbrtant replacement situations.
Explain the scope and methodology of“-‘Operatio_;;‘;ﬁResearch techniques;, -

i

‘ S : X T _\ : <
Explain multiple optimal solutions. with referénce to Llngar Programming Problem. How to

e 4

identify this in simplex method. 4 & .
Explain artificial and surplus variables with-.-réference_t:o'Linear Programming Problem.

Explain in brief about prohil_:it‘e’ii routes in‘transportation problem-and how_'_to solve a restricted
transportation problem? ) ' '

A company has three .p‘lahts and four warehouses. The demand and supply for the product in

units and the corresponding tra‘h'sportation"cbsts are given below:

Warehouses, - | |

Plants - -| Supply
A Wocfm v Ne. :
A [0 55 e J10 200

. o Y Ii
B (¥ W13 (a7 {50 R ¢
S O S T o
Demand |50 |20 |30.|10 d

- A x _?_'_: hnal N Y

Find the initial solution only by legst’:cost method (Matrix -Mininrq}. Is it'degenerate"solution?

H KKK KKKk Kk
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